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UGC NET JULY 11, 2022 SHIFT 2 LIBRARY AND INFORMATION SCIENCE QUESTION PAPER

Sl. No.1
QBID:1531001

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19' pandemie in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

Citv-wise Persons Affected by COVID-19

s Number of Affected | Ratio of Affected
City £
(in Thousands) Male : Female
A 64 B:3
B 54 B:4
C 16 F1
D 48 T8
E 27 L |

70 arferR & uRa o uie i w2l (A-E) 3 ‘Fifas-19 &t gzl o wnfag st 6 g (9w )
Zu1E ¢ 2 3R 39 wenife wfgensdt g § qEE @ s W weqa fe o 2 wm afee & smun
T U9 &I 1 ® 5 d% & I Ao

Fifas—19 @ nnfag wgr-an =afFa

M, STt MLk
95y .

A 64 Big

B 54 |

e 16 Fi i

D 48 T B

E 27 LA

Number of male persons affected by ‘COVID-19" in City ‘B’ 1s what percent more or less than
that of number of male persons from City ‘A’ who were affected by ‘COVID-197

(Option A) 259 lass

(Option B) 504 Jass

(Option C) 25% more

(Option D) 504 1ess
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e
‘Fifag - 19" @ ywifam ot - A & geui ) wem f ge H FwiEs - 197 8 wiead 98 <. BLA] %

e o ufesm sifus aram 27

(Option A) 95% FH

(Option ©) 950/ arfirp

Sl. No.2
QBID:1531002

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

City Nu _mher of Affected | Ratio of Affected
(in Thousands) Male : Female
A 64 b:3
B 54 5.4
C 16 g1
D 48 Toh
E 27 Lo |

70 arferR & uRa o oie i w2l (A-E) 3 ‘Fifas-19 &t g o wnfag st 6 g (gem )
Z9is 7 B ofit I it wfgenstt € qomn § gl 1 s ot wega R mn 21 wm aifo ¥ emun

WYY &A1 1 ° 5 9% o I At

Fifas—19 @ nnfag wgr-an =afFa

T PYSI L Lk i
95y .

A 64 Big

B 84 bh:4

e 16 Fi i

D 48 T B

E 27 LA

Find the average number of females who were affected by ‘COVID-19' in all the five cities.

(Option A) 14900
(Option B) 12600

(Option C) gapp
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(Option A) 14200
(Option B) 12400

(Option C) 1E200

(Option D) 129200

Sl. No.3
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The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

City Nu _mher of Affected | Ratio of Affected
(in Thousands) Male : Female
A 64 B:3
B 54 5.4
C 16 F:1
D 48 b
E 27 b1 |

70 ATferehl ¥ URA o uiE 4= w20 (A-E) 3 ‘Fifas-19 Fit gzmil @ wfaa satEa 5@ (FE )
ZuIs S 7 iR 39 wenifae wfgensdi #f qern § B & e o weqa feen o 21 38 Ao & smen
T U9 T 1 " 5 a9 & I e

Hifae—19 & wifaa wE-an =afF

s i i ey (] | T A | S
7E9 : AfeeT

A 64 b:3

B H4 H:4

C 16 L

D 48 T:5

E 27 243

In the context of City ‘D', if out of total affected males, 16%% are in the age group of

21-25 years, 33%% are in the age group of 26-30 vears and rest are in the age group above

30 vears, then find the total number of males from City ‘D' who are affected by ‘COVID-1%
having age of 21-30 vears:

(Option A) 15000

(Option B)
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(Option €) 12000

(Option D) 12000

R - D F Hed # 9fy wifag - 19" 4 ywifad o gEei | | 16%%21-253&%3’;%1{5%:%,

331 o4

3
26-30F F AR Fe AN 30T G AUF W oRE FEA W - D' H 21 - 30 99 F 39 TP
& 39 NI i Tl T Tz, S wifag - 197 § wwifad 27

(Option A) 15000
(Option B) 14000

(Option €) 12000

(Option D) 18000

Sl. No.4
QBID:1531004
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The following table shows the number of persons (in Thousands) who got affected by Vour Personal Exams Guide
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

City Nu _mher of Affected | Ratio of Affected
(in Thousands) Male : Female
A 64 B:3
B 54 5.4
C 16 F:1
D 48 2
E 27 L |

70 ATferehl ¥ WRA o ufE fi= w20 (A-E) 3 ‘Fifas-19 &t gzmil o wfaa st 6 @@ (39w )
2o S 2 3R 399 wenifae wfgensdi i qern § qwei & e Ht weqa e o 21 38 arfes & smen
T U9 T 1 " 5 a9 o I Ao

Fifazs—19 @ wwifag wgr-an =afF

| i i i (R T T A
959 .

A 64 b:83

B 54 - |

e 16 L

D 48 T:5

E 27 LA

What is the difference between total number of males in cities ‘B, 'C" and 'E’ together and
total number of females in Cities ‘A’, *C" and ‘D)’ together who are affected by “COVID-19"?

(Option A) 15000

(Option C) 12000

(Option D)
el ‘B, ‘0 uE K H wifag - 19 § ywifad gew f Fe gem i wE A%, ¢ @ DA #ifae-19 §
wurfara wfgenaii it Fa gem & offa #7327
(Option A) 15000
(Option B) 13000

(Option C) 12000

(Option D) 14000
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The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the tahle, answer the questions 1-5:

City-wise Persons Affected by COVID-19

. Number of Affected | Ratio of Affected
City ;
(in Thousands) Male : Female
A G4 B:3
B h4 o |
C 16 gl
D 48 75
E 27 L |
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70 ATfershl ¥ 9N o uiE 4= w20 (A-E) 3 ‘Fifas-19 Fit ggmil @ wfaa st & 5@ (FEm )
2o S 2 3R 399 wenifae wfgensdi i qern § qwei & e Ht weqa e o 21 38 arfes & smen

WUy T 1 8 5 9% % 30 Afeu:

Hifae—19 & wifam weE-an =afF

| i i e T o |
7e9 : AfeeT

A 64 b:3

B 54 H:4

C 16 L

D 48 T:5

E 27 243

What is the ratio of number of females in City ‘B’ and number of females in City ‘D’ who are

affected by ‘COVID-19"7
(OptionA) 3.5
(Option B)

4: 5

(Option C) 56

(Option D) 6.5

‘Fifag - 19 8 wwifaa, et ‘B’ H wfgenadi &t g o @ ‘D’ ° afzensdi f @@ 1 o7 2

(OptionA) 3.5
(Option B)
(Option C) 5B

(Option D)
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6.5

QBID:1531006

Matech List I with List II

(&)
(B)
(€
(D)

prepp
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List I List I1
National Coordinator Mandate for development of MOOCs
for SWAYAM
UGC-CEC (I) Engineering Technical Courses
NPTEL (II) Certificate Courszes
AICTE (III) UG and PG level non-technieal courses
IGNOU (IV)y Self-paced and lifelong learning

Courses

Choose the correct answer from the options given below :

(Option A)

(A)-(IV), (B)-(I), (C)-(11), (D)-(111)

(Option B)  (a).(111), (B)-(D), (O)-AV), (D)-(AD)

(Option C)

(A)-(ID), (B)-(D), (C)-(1D), (D)-(IV)

(Option D) Ay (11D, (B)-(IV), (C)-(D), (D)-(IT)

=1 % Ty g=h-11 =71 firems fifse

(A)
(B)
(©)
(D)

-1
TP gH=T6

3.5 41, - i,
.93 3.1,

LA R

3 (o1 S e )

gH-11
=1 & foe g (MOOCs) & fawm &+ fou
sftgw

() Sehifeafor gt qrgases

(ID ST TISAHH

(111) 7.5f. 3 ot sfl, s & -aeiht argass
(IV) *=Fd: gt 3 ssfiaq e aausn

et fou o famedt d 4 w5 I w1 wm ife

(Option A)

(Option B)

(Option C)

(A(IV), (B)-(D), (C)-(I1), (D)-(11D)
(A)-(ITD), (B)-(I), (C)-(IV), (D)-(ID)

(A)-(1I0), (B)-(I), (C)-(I1), (D)-(IV)

(Option D)
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Which will vou rate as a good 21+ century teacher?

(&)  Teacher A: Makes notes from various books and shares the xerox copy of notes to

the students to learn on their own.

(B) Teacher B: Uses presentation tools and explains the concepts followed by

discussion.

() Teacher C: Makes notes and writes the information on board and tells students to
copy and rote-learn.

(D) TeacherD: Uses presentation embedded with graphic, videos and animation to

explain the concept and discusses with students.

(E)  Teacher E: Provides good quality videos before the class and discusses them in

classroom.

Choose the correct answer from the options given below :
(Option A) (D) and (E) only

(Option B)  (A) and (B) only

(Option C) (B), (C) and (D) only

(Option D) By (D) and (E) only

319 21 yraredl % U T= HAeAE & ®9 H fhue qeadd w17
(A) wemE A fafis geEel 8 e fan w2 e 3 el & Wy Jeg o Sfiten i o
il 8, foag 3 = e ugw = 9

(B) =A9® B: YA god H1 3TN Al B S srEumonad ® TiE il g, frme e g ==t
At 2 |

(C) st C:  HieH s 2 ol &8 w foraen @ aon faanfiiat = <7t 3 w9 Fory a8 1 &
o wgar 21

(D) @Eams D uiftes, iz g oidee & @1y Eunoe T T & 3 BE1 % 91y ==l
AT 2 |

(E) =& E: %l | 9gH ¥ Ygcl sl quEd & fifed ygE oar g i e | 3 4 H
o1 ST 2 |

d= feu o feedt 4 9 @t 3w w1 9= Fifso
(Option A) W{D)xﬁ{ (E:l

(Option B) 'a?fﬁf {A} Efﬁ'{ {B)

(Option C)
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(Option D) ‘aﬁ?'f (B), {D)aﬁt(E]

Sl. No.8
QBID:1531008

(3iven below are two statements ;: One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Flipped classroom 1s a learner-centric effective model for ICT enabled

teaching-learning or blended learning.

Reason (R) : Students learn concepts through videos and in classroom, teacher-guided

discussions and problem solving 1s done 1n face-to-face mode.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(Option A)
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(Option B) Bgth (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(Option C)  (A) is correct but (R) is not correct

(Option D) (A jg not correct but (R) is correct

f= 21 #em fau o 2 ;v AfWEed (Assertion A) F ®9 H foifigd ® @1 80 35% F001 (Reason R) % &7
g

AftheE (A) Ieaifd e s LA wwida st -sfiem W uggd sfm e ouw e -
Higa guret gfeest 21

F (R) : o difea & sream 4 sEumone % 91 § digd 2 o wen 8 seas-feie ==
AN GEE - GHIYE AHA-G & affs o e S 2

IUTF FYT & e °, A9 Fu o et § 4 g9 3uyE I # =5e fif

(Option A)

(&) 3f (R) 2F w1 & o (R), (A) F wd =mem 2
(Option B)  \y aiit (R) 21 &t 3, A (R), (A) ) w8 =ame 781 21
OPen D) () w2, A (R) TE T R

(OPHOnD) () il i 2, S (R) w21
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QBID:1531009

As per copyright laws, ‘Fair-use’ allows the limited use of copyright works for

(Option A) Commercial use
(Option B)  Edycational purpose
(Option C) Making videos
(Option D)

Making paid online course
ez FE % SER ArRTE IR (e ) PR R wiee 6 S0 6 SR v e 37
(Option &) e
(Option B) a6 o
(Option ©)  pe s

(Option D)

YTAH-3NYRE TR T3TH TR HE]

Sl. No.10
QBID:1531010

How many modules of e-content in four quadrant format are to be made for covering the
syllabi for one MOOC of 4 credits?

(Option A) 9030 medules

(Option B) 4 a5 modules

(Option €) o 16 odules

(Option D) 40_50 modules
=%k HIEH T 4 s-favrasg % e aregew 9 sfem F & 4% (MOOC) % 199 &l e
1 % fore a9 9 7

(Option A) 9030 wiggd

(Option B)

30-35 #iggeq
(Option C) %
35-40 AIgIH
(Option D) 40-50 -
Sl. No.11

QBID:1531011
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When it comes to data arrangement. qualitative research — must guard against the error of

(Option A)  Segregation

(Option B) poduction

(Option C)

Expansion

(Option D) Control

221 SEEYT % HH | e Y g R 3 8 e wen sy 27

(Option A)

(Option B)

(Option C) Ff

(Option D) ﬁ .

Sl. No.12
QBID:1531012

Which of the following are advantages of personal interviews for research data?

(A)

Personal appearance does not influence the respondent.
Training the field staff is inexpensive.

The methaod is flexible.

It permits greater depth.

The identity of the respondent can be controlled.

Choose the correct answer from the options given below :

(Option A)

(A), (B). (C) only

(Option B) (4 ((), (D) only

(Option C)

(Option D)

(B). (D). (E) only

(B), (C), (D) only

prepp

Your Personal Exams Guide
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frafafiga 4 @ 98 oy 2o & o Safaas qaned & @y 27

(A) =afFaTg =9 8 99 24§ 3T e 9 W 99E a8 9249 2 |
(B) ies =% = afvee et 2

© 8 ugh a3

(D) A& & T YGH FIA 2 |

(B) 3W 27 a6t g Fata & o g=dt 2

#= feu o fased 4 9 wd I = 999 fifso

©OPEn R (4. ), (©

OPEon B Fat (), (©), (D)

OPEmD s (B), ), (B)

(Option D) F=r1 (B), (C), (D)

Sl. No.13

QBID:1531013

Which one of the following is parent organization of SCOPUS?

(Option A)  American Chemical Society

(Option B)  homson Reuters

(Option C) Springer

(Option D)

Elsevier

fr=fafiaa 9 #ma s’ (SCOPUS) &1 Hel 8134 27

(Option A)  sitfiad Ffmrer S

Option B -
(Option B) o T

(Option C)

fegm

(Option D)
Evﬁ iﬁi‘ﬂ

Your Pel

epp

rsonal Exams Guide
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QBID:1531014

Given below are two statements :
Statement [ :  Multivariate studies demand larger samples than univariate studies.

Statement Il : Multivariate studies do not analyse the data sets involving several responses.

In the light of the above statements, choose the correct answer from the options given below:

(Option A) .4} Statement I and Statement IT are true
(Option B)  pih Statement I and Statement 11 are false
(Option €)  Gtatement I is true but Statement 1T is false

(Option D) gt tement 1 is false but Statement 11 is true

CEE S E R

FoA (1) :  Uhol-9 ST Il gor § dg-uR el § i 92 wfteyt smaves g9 )

FUA (11): ag-=0 AT T4 SRS 8 Fafdd 59 gy=adi (321 Heq) #1 favemon 78 i 2|
I HUE & ATeE °, J= fu v et § @ dt 3 w99 fifso

(Option A) oy 1 ofit 1121 &e 2 |

(Option B)  sorg [ 3t 11 21 318 2 |

Opti C
(OPHONC) o 157 2, 4T o 11 70 3|
(OPon D) om 1 sraed 2, ofh &om 1181 2
Sl. No.15

QBID:1531015

In the context of Research Methodology, what does the word Ontology refer to?
(Option A) Concepts and categories, their properties and relationships
(Option B)  Reocearch papers and journals and their citation
(Option C) Cancers, diseases and their treatments

(Option D) 4 rd mdexing method

ity ugfa & ged 7 g dtaen’ e ot gefife war g 7

(Option A)

JEYTOMG, U 3, 39 07 31 Hey
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(Option C) 5;1:[{’ T 3T 395 379N
(Option D) s Wﬁm qﬁ

Sl. No.16
QBID:1531016

An effectively communicative teacher will ensure

(Option A) g o .
Uniformity in learning
(Option B) Student-learning cutcomes
(Option C) Changes in personal ideals
(Option D)  (yjtyral integration
us yurEl sifyeafaasiian stemvs giifvea wom:
(Option A)

Foreror A gwETan
(Option B) m_m ‘:Iﬁ“TTq
(Option C) =TT \_ﬂ'ﬁﬁ 1 afigds

(Option D) mﬁﬁ; Q‘w:"l‘a%‘(ﬂl

Sl. No.17
QBID:1531017

In communication, interpretation of the message depends upon

{A)  Transmission speed
(B Type of channel

() Order of information
(m Content character

Choose the most appropriate answer from the options given below :

(Option A) (A) and (B) only

(Option B)  (B) and (C) only

(Option €) () and (1) only

(Option D) (4 and (D) only
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Feior § Hew 6t sren o w el B
(A)  E=mo Tt

(B) =9 %1 YHR

(C)  gEa1-%H

(D) favaasg &1 @

fr= e e faweat 0 @ ot 3 w1 ==m e

(Option A) aﬂa {A} aﬂt (B}

(Option B) %%‘6!?1’ {B) 3-?[{ (G]

(Option C)

(Option D)

Sl. No.18

wFae (C) 31 (D)

Fae (A) 31 (D)

QBID:1531018

In terms of communication, a photograph is considered as a/an

(Option A)

Balanced text

(Option B) (omplex text

(Option €)  Open text

(Option D)  (}5qeq text

run & 319 O ues fua (wiemrs) Fi e wu d g S 2 7

(Option A) !

P@%IEI 13
(Option B) F: e
(Option C)

Gedl 91
(Option D) .

ELAIE)
Sl. No.19

QBID:1531019

prepp
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Statement I :  Lack of voeabulary can be a serious deficiency in communication.

Statement [1: One's vocabulary need not be too complex or simple for communication.

In the light of the above statements, choose the correct answer from the options given below:

i A
(Option A) Both Statement I and Statement Il are true

(Option B)  p,th Statement I and Statement 11 are false

(Option C) Statement I i8 true but Statement 11 is false
(Option D) Statement [ is false but Statement I is true
et 2 e fau o 2

w0 (1) :  91&g1 & HSH 1 THE TNV § UF T 31q0far & TeRar 2 |

o (1) :  =afFa & Teg-ven & g % foe aga ifus e @ o a9 smavas 46 21

I9UET F99 & A |, 4 few mu famedt 4 8 9@t s w1 == fifs

(Option A)  org 1 il 1121 &e 2 |

(Option B)  sorg [ 3t 11 21 318 2 |

(OPHONC) o 1w 2, T o 11 o0 3|
(OPton D) - om 1 sraed 2, ofsh &om 11 8T 2
Sl. No.20

QBID:1531020
Match List I with List 11 :

List I List I1
Communication Codes Description
(A) Operational ()  Collective perception
(B) Natural (II)  Rules of appearance
() Ideological (I11}) Practices of production
(I  Presentational {IV) Realistic

Choose the correct answer from the options given below:

(OPtion A) (Ay-(I), (B)-(III), (C)-(IV), (D)-()

(Option B)
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(A)-(IV), (B)-(T), (C)-(IT), (D)-(11T}

(Option C)  (A).(1), (B)-(1I), (C)-(I1L), (D)-(IV)

(Option D) (A)-(TI), (B)-(IV), (C)-(L), (D)-(1T)

gl 1% =y = 11 fiem $ifom)
T 1
HEEY F HE
(A) df=ETeH TS
(B) #H&s
(C) F=nfr
(D)  weqfaers
fau o fmedl ® 9 O 39 w1 9 Hifsu
(Option A)

(A)-(TD), (B)-(ITI), (C)-(IV). (D)-(T)
(Option B)  (A)-(IV), (B)-(1), (C)-(IT), (D)-(I1T)
(Option C) Ay (1), (B)-(1I), (C)-(I1L), (D)-(IV)

(Option D) (A)-(TI), (B)-(IV), (C)-(L), (D)-(IT)

Sl. No.21
QBID:1531021

Find the missing term in the sequence given below:

1427, 167 96 348, 50
(Option B) 51

(Option C) 52

(Option D) 125

fr= fou T W | oH T Fan -
1,427,316, 7,36, 348..coonns
(Option A) 64
(Option B) 51

(Option C) 52

prepp
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g 11

() =mfes =y
(ID) 9ekear & Fam

(111) f=ior & d ol
(IV) Fumefuieh
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A person deposited some money at a simple interest rate for 3 years. Had he deposited the
money at 2% higher rate, it would have fetched Rs. 360 more. Find the amount of the money
deposited.

(Option A) 5000

(Option B) 4600

(Option C) 6000

(Option D) 68100

forelt =afaa 4 o =ams f @ w3 9ol & fog o uf s F ) afg 9w 2% st @ o ufy s e
2, a9 39 360 % 3 fyen g | s f g uf sand |

(Option A) 5000

(Option B) 4600

(Option C) 8000

(Option D) 68100

Sl. No.23
QBID:1531023
What is the average of first 40 natural numbers?

(Option A) 20

(Option B) 21

(Option C) 21.5
(Option D) 20.5

YUH 40 U FEAE w1 SiHd 7 27

(Option A) 20
(Option B) 21

(Option C) 21 5

(Option D) 20.5

Sl. No.24
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After getting two successive discounts, a shirt with a list price of Rs.150 is availa
Rs.105. If the value of second discount is 12.5%, what is the value of the first dlsc-::-unt"

(Option A) 9504

(Option B) 20%

(Option C) 20.5%

(Option D) 15.5%

&l TR W2 WTH HA % 918, 150 %. Fi Afwa Fia arelt v FHE 105 5. 9T 39T & | I 0l g2 H
O 12.5% 7, T9 Y9N %2 H 5 F 27

(Option A) 970,

(Option B) 20%

(Option C) 20.5%
(Option D) 15.5%

Sl. No.25
QBID:1531025

A man takes 6 hours 30 minutes in going by a cycle and coming back by scooter. He would
have lost 2 hrs. and 10 minutes by going on c¢ycle both ways. How long would it take him to
go by scooter both ways?

(Option A) 4 hys., 20 minutes

(Option B) g hrs., 40 minutes

Option C
(Option €) 13 hrs.

(Option D) 5 hyg . 20 minutes

v AfFd Tgfra I oH 3 3 S d 9" 3H ° 6 92 30 e oA 21 39 241 o 9iEfhd 3 9 H 2
g¢ 10 foz 1 J9aME gan 21 | a1 o0 THel § 9 H 39! oA §Hg @ ¢

(Option A) 4 13 20 fie
(Option B) - g ez 10 fime
(Option C) 13 ﬂ%

(Option ) = &3 20 firz

Sl. No.26
QBID:1531026
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In classical square of opposition if ‘Some S is P’ is given as false then which o

could be immediately inferred from it?

(A)
B)
(©)
(D)
(E)

Choose the correct answer from the options given below :

(Option A)

(Option B)

(Option C)

‘All S is P’ is false
‘All S is P’ is undetermined
‘No S is P’ is undetermined
‘No S is P’ is true

‘Some S is not P’ is true

(B), (D), (E) only

(A), (C), (E) only

(B), (C). (E) only

(option D) (A), (D), (E) only

Lr he fol m&g

foatia % =t 7 afe, ‘'F8 S, P2 7ed & w9 # G s @ a9 Frafofaa @ @ froe svm s58 aewe

ferren s T 27

(A) ‘ot 8, P e 2

(B) ‘mft 8, PF wfuifm g

() ‘=S, P R wfyifa 2
D) ‘FEAS PR v

(B) ‘g8, P d w2

dr= fow mu faweat § @ ot 3w @ =Ee Fife

(Option A)

&9e (B), (D), (E)

(Opton B Jaw1 (A), (0), (B)

(Option C)

(Option D)

Sl. No.27

Fae (B), (0), (B)

+4a (A), (D), (E)

QBID:1531027

Which of the following Fallacy involves defective Induction?
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(Option A) .Fa].].acy Eif Cﬂmpﬁﬁitiﬂﬂ Your Personal Exams Guide

(Option B)  pallacy of Division

(Option ©)  he Argument from Ignorance

(Option D) :
Irrelevant Conclusion

frforfiaa 4 & fora qsivm 4 Sroqel stfemme sfve 27
(Option A) . mm

(Option B) E - i

(Option C)

HFEA ° T

(Option D) oy fosard

Sl. No.28
QBID:1531028

Given below are two statements :

Statement [ :  Analogical reasoning is based on a likeness drawn between two or more
entities in one or more respects.

Statement Il : There could be argumentative as well as nonargumentative uses of analogy.

In the light of the above statements, choose the correct answer from the options given below:

(Option &) Both Statement I and Statement 11 are true
(Option B) - Byth Statement I and Statement 11 are false
(Option © - GStatement I is true but Statement I1 is false
(OPton P} Statement 1 is false but Statement I is true
Frr & Fom g o E
F (D :  HGVRETF T 2 S Iq iUF FGA H T e IH A a6 A e w

3yTfE 2 |
Fud (11) : HIEYA F1 dohicAs 30 W dFhlcas T30 &1 Fehall 2 |

ITF FI9 & 3Tl d, J 2w Geedt 4 8 98 3w &1 =me fifsu
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(Option 8) o 1 3t 11 5M1 &ea F | 'repmp
(Option B)  sorg [ 3t 11 21 3183 2 |

Opti C
(OPHONC)  rom 1 5ew 2, A o 11 3199 2|

(OPton D)  om 1 sraed 2, ofsh &om 11 8T 2

Sl. No.29
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According to Classical Indian School of Logic (Nyaya) which of the following conditions must
be fullfilled by a true middle term (hetu)?

(A) It must be found in minor term (paksa).
(B) It must be found in all similar instances.
(C) It should not be found anywhere where major term (sadhya) is absent.

(D)  The minor term in which it is said to exist should not be impossible.

Choose the most appropriate answer from the options given below :

(Option A)

(A), (C), (D) only

(RN B (), (B), (D) only

(Option C)

(A). B), (C), (D) only

(Option D) (A), (B), (C) only

i 7 79 (=) ¥ egEn, fefafea § & g o f off ot veg 92 (%q) @ e s =l
(&) T @Y T (95) F A

(B) 38 oft gmw feafoat § gren s =nfee

(C) 38 =@l *dl oft o 72 9 =nfEe s uqE g (@) e e

(D) =Y ve fad s disE @ % 91 H w9 2, ofvd E g = |

Fra fom o fahedt & & T I9gE I w1 99 il -

(Option A)

Fad (A), (C), (D)
(Option B) 311 (A), (B), (D)
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(Option D)

% (A), (B), (O)

Sl. No.30
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In which of the following means of knowledge a hitherto unseen object is known through
cognition of its similarity in some respects with an already seen object when one comes
across that hitherto unseen object?

(Option A) - Parception (Pratyaksa)

(Option B)  Njon-Cognition (Unupalabdhi)

Option C . -
(Option ©) Comparison (Upmana)

(Option D) - pstulation (Arthapatti)

freafarfiga & & 3 % fopm arym 4, s@ 9% ot 7 T I9g F1, TG @l 7S 96 F 9y F9 7Y § 9
AT % | 6 HIAH H FHT SG1 8 9 His G q 7 o@l TS 9% I @i a vt

(Option A)

g
(Option C) e
(Option D) i ﬁ
Sl. No.31

QBID:1531031
With respect to information technology, which statement best describes ‘Cache Memory™?

(Option A) 5 :
USB memory connected to a Computer to increase its storage space.

(Option B)  An area of memory that contains settings for operating the computer.

(Option €) A area of the hard disk that is used when there is insufficient RAM.

(Option D) High-speed memory that is included in devices to improve response time.

a1 drEifrehl & gay |, F9 91 FUA 9 96 F1 FE948 Gl w87

(Option A)

Fet & I 9 v oft AN 3EF WEHw TH H 9gH & o
(OPHon B) - 3wt o1 g & Fored shogen st % forw A wean 214
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(Option €) - =12 foea =1 97 &3 Frat 39 9 o s & 5@ s1gafea RAM & 're.pmpd
(Option D) g wifey =rrert At o Feoarer 2rem # U e % fore st & wnfire fopan s 2

Sl. No.32
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(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) :  E-Governance is regarded as the ICT-enabled system in achieving Good
Governance.
Reason (R) : Empathy is one of the desirable characteristics of e-Governance.

In the light of the above statements, choose the correct answer from the options given below :

(Option A)
Both (A) and (R) are true and (R) is the correct explanation of (A)

(OptionB) 1, 1 (A) and (R) are true but (R) is NOT the correct explanation of (A)

(Option ) (A) ig true but (R) is false
(Option D) Ay is false but (R) is true

:ﬂ%?fraamf?:qmg% : ﬁmﬁﬂ{&%seﬂionA}%mﬁ%ﬁﬁﬁ%?ﬁ{ﬂﬂmm (ReasnnR]“%a"
w0 H -

wAf¥ERe (A) - $-Tg-9 i 3= M9 I w4 ° 3118 & gufda gt & ®9 3 qm w2
FoT (R) : TaEHfa §.aaa F ared fewasi § |9 v 2

I FY9 F A 1, A9 B Gwedi 9 9 8 3w =m fifs

(Option A)

(A) 3 (R) 21 |81 & 3 (R), (A) i @& =1 2|

(Option B) {A}Cﬁ:ﬁ'{ (R}aﬁg—a%,ﬁﬁﬁ (R), (A)Eﬁ’iﬂflwmaﬁ%l

(Option C)

(&) w2, A (R) Wl 1 2 |
(Option D) (A) g#t 78 2, dfe (R) g&t 21

Sl. No.33
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If you have a storage device with a capacity of 16 gigabytes, then how many 32 kilobytes files
can you fit in that device? (1KB = 1024 bytes)

(Option A)
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(Option B) 919

(Option C) 920

(Option D) 914

af2 a1aeh 9/ 16 Tirmarse 6 amar J1en U YR 39 B, 99 39 39 J fohad 32 feet ase wisen
@ Thd 8¢ (1 FF sz = 1024 a5em)

(Option A) 918

(Option B)

Sl. No.34
QBID:1531034

In the history of computing, Moore's Law says that the number of Integrated Circuit (IC)
Chips in a Computer doubles every two years, which implies that computers become twice as
powerful every two vears. According to Moore’s Law, how many years from now will
Computers be 32 times more powerful as they are now?

(Option A) ;5 years
(Option B) 10 yvears
(option C) 12 years

(Option D) & years

Fefen % gfagma °, gt %1 e wem ® 6 Fwge o @ufes afde (10) o= it 9o o= o1 ad 9 g
21 9wt 2, Forram smvm a9 2 7 Foger 9 21 9Nl 4 2 qon wnfEFaed @ S 2 g # feEm ¥ emew,
o ® A7 fohad It |, Foget 35" 32 1 Stfhe wifadwrett 21 smom faad 9 e 20

(Option A) 5 a.d-.
(Option B) 10 Er&
(Option C) 12 am‘

(Option D) ] .a.&

Sl. No.35
QBID:1531035
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Which of the statements given below are correct? ,
Your Personal Exams Guide

An Integrated Circuit (IC) is a collection of several circuits (transistors) packed on a single
chip. The invention of ICs in the history of computing led to:

(A)  increased reliability of computers.
(B) reduced cost of computers (because they could be mass manufactured).
(C) reduced size of computers.

“hoose the correct answer from the options given below :

(Option &) (A) and (B) only

(option B)  (B) and (C) only
(Option ©) (A and (C) only
(Option B)  (A) (B) and (C)

= fou o woHl § € F9 wE 27

v "fdz (1C) va fimre fog w9 R gan ors afoodl (o) =1 a9 2 39 = sfoem 9 om
dt % gwaa = woeaey Fefafad gan

(A)  wEed Fi 97l g3 favaedem

(B) el i 9t e (FEifE 39 ST W 375 8 5 8)
(C) =l &1 921 g3 AR

aét famen 9w

(Option A) W {A} aﬁ'{ (B]
(Option B) ‘é‘ﬁﬁ {B) (‘Fﬁ'{ (C]
(Option C) ?':L“a'a (A) aﬁ‘{ {C}

(Opton ) Fw (A) B) 3 (O)

Sl. No.36
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Which one of the following is a chemical treatment process of waste water treatment?

Option A . .
(Option A) Sedimentation

(option B)  Neytralization
(Option C)  Anpation

(Option D) Adsorption

fFreferfiaa o 9 =i smafie o % siee & teEfE mea ol 20

(Option A)
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(Option C) T

(Option D) amw
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Virus responsible for the spread of COVID 19 is
(OoptionA)  SARS COV 19

(Option B)  SARS COV 11

(Option ©  CORONA 19

(Option D) QARS COV I

RIS - 19 % et % forg vt e 2

(Option A) g #9 - 19 (anq*[{t{& zﬁefl‘a‘?-l‘})
(Option B) oE g - 11

(Option C) FET - 19

(Option D) m Ehhla =5 |

Sl. No.38
QBID:1531038

‘Gobardhan’ scheme aimed at Cattle and other biodegradable waste in rural India is being
implemented by Department of Drinking Water and Sanitation in collaboration with the
following organisations:

(A)  Ministry of New and Renewable Energy

(B) Ministry of Petroleum and Natural Gas

(C) Department of Rural Development

(D)  Ministry of Enviroment, Forest and Climate change
(E) Department of Animal Husbandry and Dairying

Choose the correct answer from the options given below :

(Option A)

(A), (B), (C), (D) only
(Option BY (A), (C), (D), (E) only

(Option ©)  (A) (B), (C). (E) only
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s 1 Eewar favr Fefafea 4 8 e geq & ggam 8 oo wig | gasht iR o= S
i ara smfire w afém mads s w5 FEEE = w e

(A)  TFER o T H6 g

(B)  92iferm = wisfoes o w3

(C)  artor foerma fasm

(D) AT, 39 AR oAy gigdd g3
(B)  wuTer o 23d faum

f fou o fasedt & o @t I @ =999 Hifa

(OptionA) & (A), (B), (O). (D)
(Option B) -yt (A), (), (D). (E)
(Opon ©) 3 (A). (B). (O), (E)
(OPHon ) 3=t (B). (C). (D). (E)
sl. No.39

QBID:1531039

(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) :  Photochemical smog causes eye irritation.

Reason (R) : Photochemical smog has ozone as one of its constituents.

In the light of the above statements, choose the most appropriate answer from the options
given helow :

(Option A)  Both (A) and (R) are correct and (R) is the correct explanation of (A)
(Option B) Buth (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(Option € (A) is correct but (R) is not correct

Option D . :
(Option D) (A) is not correct but (R) is correct
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= &1 ym fGu o E : v AfWEU (Assertion A) F ®9 H forfiad B @1 700 36 w01 (Reason Ry Fow9
g -

sfiyReE (A) - TR -THEA YH-FE0 (FElhmd TM) 99 7 FoH 3694 Hl 2l
F0 (R) : THT-THEA YH-HE0 % T 9eh & &9 ° A Bt 2 |

ITE FU F e 5, e fGu e feed § 8 999 3gaa I # =9ga Aifsw

(Option &) Ay i (R) a1 W ¥ 3 (R), (A) B T =
(Option B) Ay aiit (R) 21 &t 3, R (R), (A) ) & =ame 781 31
(Option C) (A) @& 2, afF (R) a8 781 )

(Option D) (A) =& 78 2, fT (R) @8 21

Sl. No.40
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Hurricanes are tropical cyclone with surface wind speeds in excess of about

(Option 4) 119 km/hour

(Option B) 71 km/hour

(Option €) 51 km/hour
(Option D) 4~ | m/hour
yio (Efe) Swrsfeadls awam &, a8 yiaa e w o = enfasa & ofa 2t 2:

(Option A) 119 fi 1t /g
(Option B) =71 £ ot fefzy

(Option © 51 i 1 /e

(Option D) 4~ £ oft /e

Sl. No.41
QBID:1531041
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(Given below are two statements : Your Personal Exams Guide

Statement I :  Value education is knowledge based and information oriented.
Statement Il : Value education is essential for holistic development of students.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(Option A)
pHon Both Statement I and Statement 11 are correct

(Option B) - Both Statement [ and Statement 11 are incorrect

Option C : 1S 1
(OPtion ©) - gtatement I is correct but Statement II is incorrect

(Option D) Gt atement 1 is incorrect but Statement 11 is correct
f= 2 o= few o E .

w9 (D) :  qeaws fan se-smafa ot gan-3t g 2
w7 (1) : oo fren faenfed=i % awy fawm & fou smmyas 21

I FYH % Elw H, A o o famwmenl § 8 w9 3ugew I w1 9aa il

(Option A)  ror 1 afit 1121 5l 3 |
(Option B) o 1 31T 11 2T T 2 |
(OPHOnC) o 1wt 2, Sfet = 11 7rera 2|

(Option D) wom 1 7reta 2, St o 1 Tt 21

Sl. No.42
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As per UGC guidelines (2021) for Multiple Entry and Exit in Academic programmes, the
Academic Qualification Level 6 corresponds to

(Option A) B A./B.Sec. (Hons/Research) degree

(Option B)
Masters degree

(Option€©)  pg Diploma

(Option D) 1yiploma
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srEmE FEEal 4 ag-fau sfafe o frin #fod g0, % fen fdsi (2001) * egm;ﬂg&
T T 6 RO Oy gne 27

(Option A)

v, A om . (/o) feh
(Option B) m %‘;ﬁ

(Option C)

ot 5ft. feeetrm
(Option D) ﬁ %

Sl. No.43
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Identify the organisations/bodies which regulate Professional Education in the country.

(A) Indian Council for Agriculture Research

(B) Couneil for Seientifie and Industrial Research

(C)  National Council for Vocational Education and Training
(D)  National Counecil for Teacher Education

(E) Couneil of Architecture

Choose the correct answer from the options given below :

optien &) a), (©), D), (E) only

(Option B)

(A), (B), (C), (D) only
(Option ©) (B), (C), (D), (E) only

(Option D) - (o) ((), (D) only



g\g.;;;pgw =1 fafigms # aret get /Fwm f gzem fifu 'repmp
(A) s Ffy srae afeg

(B)  amf offt sfrenfirs sigEem Titg

(C) g =mEEfeE e s afie ofeg

(D) i e fien it
(B)  =emen uftsg (Fsfaer 1% sqifhea=n)

Ao o o fepedi 8 & wt e S i

(Option A)

Fae (A), (0), (D), (B)
(Option B) &de (A), (B), (C), (D)
(Option ©) 34 (B), (C), (D), (E)

(Option D) FAa (A), (0), (D)

Sl. No.44
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In ancient times some of the most prosperous civilizations, which were strong knowledge
based societies, included

(A) India
(B)  Egypt
(C) Japan
(D)  Germany
(E)  Greece
Choose the correct answer from the options given below :
(option &) (A), (B), (C), (E) only
(OPHen B (A), (B), (E) only
(Optien €) (A), (C), (E) only
(Option D) - (A) (B), (C), (D) only
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(A) 9ra

B) =

(C)  SmH
(D) A
(E)  I=

13 o o foredt 3 @ w3 A o R
(Option A) 2 (A), (B), (O), (E)

(Option B)

Fael (A), (B), (B)

(Option C)

F4¢ (A), (0), (E)

(Option D) 3 (A), (B), (C), (D)

Sl. No.45
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During British rule in India who among the following observed that: “The Indian
Universities turn out only a discontented horde of office seekers, whom we educated for
places which are not in existence for them to fill”.

(Option A) - (y3yz0n

Option B :
(op ) Annie Besant

(Option C)  Nyylhousie

(Option D) Nacauley

ud # fafew smm & Snm F=fefes 8 o s fogefi 6 oft B “yde el e ssa wam &
;@E;ﬂﬁaﬁﬁmaﬁmﬁ%ﬁ%mmﬂ%mmﬁm,mém%mm
T gl

(Option A) -t
(Option B) 1 faiies
(Option €) g
(Option D) 32

Sl. No.46
QBID:1531046



www.prepp.in
Read F:h«ep}f:ull«w«ring passage and answer the questions : rrepp

Your Personal Exams Guide

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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U ey o ofdarthe aftien § gertfos sefaem 3 v gum A G2 & s e 2 ageE &
f=1 weEl g wgE eHifas d@ed % w9 o w9 @ w91 Al 3 w9, S gE 8 S snidw ufe
I L T, A 3es faryrfud X fn, St oW Awa @ | ST % 38 3w T 91 98 Al @l Hied 8
fo %8 Toifas Igfarm el s alls & ot =@ 2 | wifea, 98 gae st weeaget B for werifen
efarm form yen ffm offet 4 ama sgfawm & fa= 2 )| ugen, ooifas sefosm 9 w3 &t sEEan g
# ®1 ¥ fram o 3% qd =9 2t 8, 7 T ama safawm & S ) gt g staems fregor sin i
& e H Hed B g, TR ot 7z 3t forvaaeg i faffa o8 w5 2 ot 78 favrasg saafus i
g wedt 2| fam geansti & onun B9 € o 3% Wg F At TSl R o9 ¥aH A @ AL FHH
sl B ger # "Hg Tsied fil HafeRar & Wiemm " 39 994 R S 21 50, 5Ee e |
grarat § fawg = Bl ot 39 @ faem-famst e s o 2, st amfeos 9 feufa fagfa 20
w1 sAfesa qfommi ot s g it faet & ar s gwd 2, dfe a9z 2 B A s weE
ASET 51 Tehd 7, S GEgTa w91 § 9= § o 36 g mam agfeewa f g d sEerens
T % 3e9 FA R A guEa B | dfEd, #8989 SieR 1 g9d 2 5 gearm safewe v
greaAt it Afieesn wE § 9y i gmar w i 3d 8 = = A e o 9w W fagea
T STFCHICHS Ig/aehTcds THUMH Ic9+1 X Tohd & | fiat alis J erifas e ame sgfasm @ s
fi= 2 fo =afaa fagmand - o ol § e, 371 9e | S - STEfTE §9 % 99 HiEhios ®9 9
Hef 2 81 78 el it SgEeTcaRal & 91§ edl S FiE 241 f g 8 | gt b ww
are, {fa-fam #rp fvam @ 909 2 - +9 9 #0 fagm 4 @ o 9 & T § yar w afafda &
ST Tehd &, St f Srersdt saredt # ek & fRam ot # e % fawan § g o

Historically, the successful forms of political development were based on

- A 3
(Option &) General patterns of human evolution

(Option B) zina . o a .
Variations in political organisations

(Option €)  Groups of people with aspirational goals

Option D . .
(op ) Military and economic power

tfaefas =9 & UsHifas fawm & 9%a w9 frg wemufg 2 7
(Option &) g sefaem F amm ¥
(Option B)  rrsrfifees Traat d fase

(Option C)

STl A&l A S -HHR
(Option D) ﬂﬁ'ﬁ; Gﬁ'( ﬁf Yfﬁfﬁ

Sl. No.47
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In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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U ey o ofdarthe aftien § gertfos sefaem 3 v gum A G2 & s e 2 ageE &
f=1 weEl g wgE eHifas d@ed % w9 o w9 @ w91 Al 3 w9, S gE 8 S snidw ufe
I L T, A 3es faryrfud X fn, St oW Awa @ | ST % 38 3w T 91 98 Al @l Hied 8
fo %8 Toifas Igfarm el s alls & ot =@ 2 | wifea, 98 gae st weeaget B for werifen
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The foremost stage of political evolution contained

(Option A) - Bislogical determination of norms

(Option B)  Qalection of political groups

(Option ©) 11 stitutionalisation of rules

(Option D) Understanding of political evolution

Tt 3gfaswm & wamft = § wfmfaa fEm s g

(Option A) ? B 3& ﬁ i
(Option B)  rreiefiferer we! =1 =
(Option C) E f = p F
(Option D) ﬂﬁ ﬁ Eﬁ
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In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The variance in planned political institutions features

(Option A) . i
Simple randomness of selection

(Option B) Adaptive solutions

Option C :
(Option ©)  {Jhintended consequences

Option D . "
(©p ) Absence of information

fraifaa geifaes geeneti & firsan 6 fagan 2:
(Option &) o =1 FnumY TEfeEHT
(Option B) @W qETIHE
(Option C) GTﬁ'f%'&'{‘l trﬁ'ﬂn‘q

(Option D) H\H"Tl ag‘ar @ﬁ?ﬁlﬁ[
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In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The transmission of select characteristics of political development is basically

(Option A) Cultural

(Option B) Biological

(Option C©) P atorical

(Option D) y1hsocial

Tt faema 6t giar st & e @ =7 8 &

(Option A) - i:%
(Option B) 3&

(Option C)

(Option D) rerrmifire
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In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The inference to be drawn from the passage is that

(Option A)  Pegple design their political evolution.

(Option B) G - ; : .
Political evolution is the replica of human evolution.

(Option €)  Rule based institutions are indispensable to society.
Opti ‘ 3 . ok e %
(Option D) (vltural traits cannot be organismic to political evolution.

39t ey | frend e 2 6

(Option A)

T 319 ST Iafaswra it sifirern w1 2

(Option B)

T SEfeR A S S 2
(Option €)  Lom_ amenfra dewmd wurs * forw smfierd 2
(Option D) gieFfas fasvs Torifos sefewm ¥ g St 7 2 g €
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(Option A)  Providing access to published works by visually impaired persons

(Option B)  Providing access to published works for visually impaired persons

(Option C) Providing access to unpublished works by visually impaired persons
(Option D) Providing access to unpublished works for visually impaired persons
ik afy (2013) Fafafas wSf=a 2 -

(Option A)  wfueifee =afehal gr wehifiE el o ifm wem
(Option B)  =fusriim saferail % feru wenifom geasi o sifiom weM om0

(Option C) Ffenfaa =il g sTwRiiem geaehl @ i wge e

(OPYON D) fyanfirm safereii ¥ fory srwamfor gl 7 PP WA
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Which commission recommended the National Census of all Libraries™

(Option A) ot s Wbt Dot

(Option B)  Kithari Commission

Option C 1881
(Option C) Chattopadhyaya Commission

(Option D) National Knowledge Commission

¥t Tl i T e s e s 3 e
(Option A) THTFOH AT
(Option B) T

(Option D) .
TEE H A

Sl. No.53
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The addition of Information as a sector in, “The Information Economy (1977)" was done by

(Option A) g Machlup

Option B
(Option B) M.V. Porat
(OptionC) p M. Hayes

(Option D)
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M.M. Parker

“2 FREEA THAE (1977) § G 1 &3 F 7 7 FREes g S e an?

(Option A)

%, f%eq
(Option B) q_qd_\r tﬁ:'l?.'
(Option C) AR, T %ﬁ[

Option D

(op ) mm, 9
sl. No.54
QBID:591004

The study of signs and codes is called

(Option A) Semiotics

(Option B) e
Bioniecs

Option C y
(op ) Cybernetics

(Option D) Altmetrics

T UF %2 T HSTET el |

(Option A)

Sl. No.55
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In which year Berne convention was signed to forbid discrimination against foreign authors
and also to establish uniform treatment for protection of copyrighted works?

(Option A) 1952

(Option B) 1352

(Option C) 1963

(Option D) 1863

foreft erawi & wia fadig & Fig w9 Fiiwee gerl & S &9 99 9er Tia % 2 e a0 9

sfeE g a7
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(Option B) 15352

(Option C) 1963

(Option D) 1563
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The Bigh Model and approach was developed by

(Option A) S. Serap Kurbanoglu
Option B
(Option B) W. Edwards Deming
(OptionC) |, Torrington and L. Hall
(Option D) Mike Eisenberg and Bob Berkowitz
fam 6 w3t surm e =l R e
(Option A) 5
TH, W FEATe
(Option B)
Teeg TeAeH Sfim
(Option C)

€. Ziftrea 3 ve. 71|

(Option D) . siredirant i aifr EEAlEre]

Sl. No.57
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Who promulgated the Imperial Library Act, 1902?

(Option A)

Lord Curzon
(Option B)

Lord Mount Baten
(Option C)

Lord Cunning

(Option D) ;4 Dalhousie

srfifias wEsl uFe, 1902 %1 Ya0d had e
(Option A) ]

(Option B) o progasien
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(Option D) Fﬂé ?I -

Sl. No.58
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Who used the word Information Literacy in 19747

(Option &) - sviies Houstig
(Option B) Zurkowski
(Option €)  , \ - MacFarlane
(Option D)

ilson

1974 5 H=AT WG 555 1 WG e R e

(Option A) G‘FH %ﬁ'r[
(Option B) ﬁﬁgﬁﬁ[
(Option C) St 3

(Option D) £

Sl. No.59
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Fodor's essential India is

Option A

(opti ) Yearbook
(Option B) v ol Guide
(Option C)

Directory

(Option D) . 1 dbook

WISt i SEfSEe sfEa 2
(Option A) R
(Option B) e

(Option C)

REEHED

(Option D)
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JSTOR is

(Option A) General periodical database

i B
(Option B) Database of newspapers

(Option C)  Database of conference proceedings

(Option D) Hymanities and social sciences periodical database

AR E :

Option A .
(Option A) & & ;

(Option B) s i 1 sreeE

(Option C) - : ﬁ %t -

(Option D) oo vei mmifors fasi &1 swmafess ofst 1 SR
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Who has classified the documentary sources of information inta the following category
“Conventional, Neo-conventional, Non-conventional and Meta documents™?

(Option A) C.W. Hanson

(Option B) 7 11is Shores
(OptionC) g Ranganathan

(Option D) yapnis Grogan

g1 % YerdE ' h fetetaa st anefe, T@-aiie, T-uReies s ge s | e
Fritea foam 27

(Option A) ft %387{
(Option B) Fﬁﬂ i
(Option C) . -

(Option D) o

Sl. No.62
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Propedia is part of
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(Option A) Eneyclopedia Americana

(Option B) Encyelopedia Indica

Option C e
(©p ) Eneyelopedia Britannica

(Option D) NeGraw Hill Encyclopedia of Science and Technology

FEfTE (Frftfear) Frefafaa = a2
(Option A)  grsedifean syfemn

(Option B)  greamivdifemn sfemm
(Option C)  yreriindifem Tt fim

(Option D) #% w1 fee vaEaEdiTsa A% 9Eg U S

Sl. No.63
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Which kind of Library involves in Community Information Services?

(Option A) A cademic Library

(Option B) 1, 115 Library

(Option €) 3 vernment Library

(Option D)  Cyrporate Library

formr wm % qrTeE ATETEE gE HA @ HEg A7

(Option A)
Hftaw g

(Option B) sl e

Option C 2

(Option C)

(Option D) ﬁ‘]ﬂgﬁw
Sl. No.64
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In which year, SMS was tested?

(Option A) 1990

(Option B) 1991

Oopti C
(Option €©) 599

prepp
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Option D
(Option D) 1993

TH TN U F W B a ge ot

(Option A) 1990

(Option B) 1991

(Option D) 1993
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When was NICNET started functioning?

(Option A)

1974
(Option B)

975
(Option C) 1976
Option D
(op ) 1977

freriz (1 o7 ot v § &) A Trw a4 S w0 sy e

(Option A) 1974

Opti B
(Option B) o5

(Option C) 1978

(Option D) 1977
Sl. No.66
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Who Publishes Medline?

(Option A)  \1gCAIR

(Option B) ALIMS

(Option C) ICMR

(Option D)
NLM

HEEIEA 1 Wh19H i & 87
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(Option A) .
s

(Option B)

(Option C) 311% En ™ W

(Option D) T W

Sl. No.67
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The notations in colon classification (7' Edition)} comprises
(Option A) 7
(Option B)

(Option C) 73

(Option D) 74

Fier et (74T aes) § Gehad § T 3% 86 8 :

(Option A)

71
(Option B) 79
(Option C) 73
(Option D)
Sl. No.68

QBID:591018
BIBFRAME stands for ———.

(Option A)  pihliographical framework
(Option B) Bibliograpic framework
(Option C)

Bibliography framework

(Option D) B‘ngTHP‘h}" framework

e 2
(Option A)
[T vl eEs
(Option B)

digits.
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(Option D) N F
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According to the guidelines of ANSI/NISO Z39.14 the recommended length of abstract is of

words.
(Option A)
150
(Option B)
200

(Option C) 250

(Option D)  3p0

U A TH A/ S U H WS 39,14 % fEm-TaEel % Squn an 6 suihh S e v 27

Option A
(Option A) 150

(Option B) 20
(Option C) 950

(Option D)

Sl. No.70
QBID:591020

Which one of the following i1s not a information retrieval model based on the theories and
fouls?

(Option A) | inguistic model
(Option B)  p.vihological model
(Option C) Fuzzy logic model
(Option D)

Philosophical model

gt w3 I W S g T Wiy, Fefate § 5 %565 w68 a8t
(Option A) T ST Oy

(Option B) Aa_ e

(Option C) ki

(Option D)

eI WY
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AgroVoc is a
(Option A) Controlled vocabulary
(Option B) oy ification Schisme
(Option C)

Catalog code

(Option D) Full-text database

T R
(Option A) _
ERIER R ARG
(Option B) 4
(Option C) i e

(Option D) T’f T T -
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Haja Ram Mohan Roy Library Foundation comes under

(Option A) Ministry of Education, GOI
(Option B) Ministry of Culture, GOI
(Option C)

Ministry of Culture, Govt of West Bengal

(Option D) Ministry of Education, Govt of West Bengal

T 79 Higd T4 e =g fees simta s 87

(Option A) :
TEATe, T 9T

(Option B) . y

TEF WA, WA TR
(Option C) : : )

HEHT WA, ITHH e
(Option D) 3 . :

foren gaem, 9fvam = TR

Sl. No.73
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MIS is a mosaic of

(Option A) Management and Information System
(Option B)
Marketing and Information System
(Option C) 2 ‘ :
Materials and Information System
(Option D) Machines and Information System
UH W U el e g

(Option A) as_ "E 3

(Option B) 33 U,E b R

(Option C) 2 -
Heltaed Us =hmsM s
Option D . .
(Option D) i &
Sl. No.74
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Health Management Information System Portal in India was launched in the year

(Option A) 2007
(Option B) 2006

(Option C) 2008

(Option D) 2009

WA | R YA HE TG0 Tee e 9 3 g

(Option A) 2007

(Option C) 2008
(Option D) 3009
Sl. No.75

QBID:591025

Which of them is the precedence diagrams used for disaster management programmes?

(Option A)
Control charts

(Option B)  (34ntt charts

prepp
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(option €)  Dyigitally Accurate Response Tracking (DART)

(Option D) R, ctional Task Analysis
ST9E YEHA FEFAI o 0 A0 & HIAE] AT HE W a8 7

(Option A) . '3 il
(Option B) -

(Option C) fafirach — %ﬁ:ﬂ[?ﬁﬂ,mﬂ)
(Option D) werfemss w14 favem

Sl. No.76
QBID:591026

In which of pricing strategy. the firm prices its product lower than others in the competition?

(Option A)  gLimming pricing strategy

(Option B)  Penetration pricing strategy

(Option C€) (Geographic pricing strategy

(Option D) b quct line pricing strategy

e gea ot % Tea, FO o e o i afterat § e s o e § &8 Tadt 27

(Option A) g T s
(Option B) ﬁ?ﬁq ({:ﬁzﬁﬁ) T TE’Fﬂﬁl

(Option C)

iR qea T

(Option D) ez “a ey Torftf

Sl. No.77
QBID:591027

Who has given Four-Framework model of leadership?

(Option A) . 1ert Tannenbaum and Warren H. Schmidt

(Option B)  piman and Deal

(Option €) v J Reddin

(Option D) b bert R, Blake

Aqea ®1 AW -aia wE (Hiee) e weE e

prepp
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(Option A) s v el U‘H_ﬁ.
(Option B) ﬁaﬁﬂ 3ﬁ1 i

(Option C) R

Opti D =

(Option D) 1 s =
Sl. No.78
QBID:591028

Whao propounded “Achievement motivation theory™?
(Option A) Alderfer

(Option B)  Ne(Clelland

(Option C) Herzberg

(Option D) ©\[oGregor

(Option A)

UrE iil
(Option B) "
% Fecvs

(Option C) ¢t

(Option D) ﬁ? LI
Sl. No.79
QBID:591029

Internet protocol version 6 supports bit address.

(Option A) 39

(Option B) a4

(Option C) 198

(Option D) a5p

EHEUEH A A6 R UEHHEWE

Option A
(Option A) 4y
(Option B) 4

(Option C) 128

(Option D)

prepp
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Sl. No.80
QBID:591030

ASCI uses —— hits to code each character.

(Option A) -

(Option B) 8
(Option C) g

(Option D) a4
U UE i S 3 Wedw AWl H g w % fA

(Option A) -

(OptionB) g

Option C
(Option C) 9

(Option D) 24

Sl. No.81
QBID:591031

Which protocol is used by ping command?
(Option A) TCP
(Option B) UDP
(Option C)  ARP

(Option D) ICMP

i Tew g =9 | ieRie va T S 2y

(Option A)
&1 i di

(Option B) ;;L—&Pl dt

(Option C)
T @ b

(Option D) 3¢|'§ o ug o

Sl. No.82
QBID:591032

w1 = w R

Which First version of e-Granthalaya was made available on cloud platform?

(Option A) =0 1.0

(Option B)  ¢.(3 2.0

prepp
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(Option C) e-G 3.0

(Option D) a.C 4.0

foFm §-Tiamer 1 TR FERT FES THEHH T IRt §a a7

(Option A) ﬁ?:ﬁ 1.0

(Option C) 'é-ﬁﬂ 2.0

(Option D) éiﬁ 10

Sl. No.83
QBID:591033

The characteristic, “volume” of Bigdata is related to
(Option A)  qize of data

Option B
(Option B) type of data

(Option C) speed of data processing

(Option D) uncertainity of data

e % g & sfyee frefales & Hafim 2 -
(Option A) o & smm &

(Option B)
2 % UFH E

(Option C) e LT G

(OPtion D) 71 i sifsfreman &

Sl. No.84
QBID:591034

The language used by RDF is called

(Option A) - P D F/XML

(Option B) - HTML/RDF

(Option €) b F/HTML

(Option D) Py WSGML

prepp
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¥ g UF g W W FEamd @

Option A
(OPHOnA) <t v / v w

Opti (o}
(Option €) R S UF [ A

(Option D) m%ﬁ‘{“ﬁf@ﬁ‘{qﬂﬁ

Sl. No.85
QBID:591035

Which digitization program was initiated by National Library of India?

(Option A) Down the memory lane
(Option B)  nyware Dware Gyan Sampada
(Option C) 45 mation for all

(Option D)

Aatma Nirbhar Bharat

WA % TP JEAhTed gRT ®i4 T1 ehieo] Fawe AR fha mar a7

Option A .-
(Option A) T3 § HAE o

(Option B) o e
k- L3 El 1'

(Option C) mi ﬁﬂ'{ T

(Option D)

ATHAER 9

Sl. No.86
QBID:591036

In wireless communication, base station is connected to central Hub called
(Option A)  PSTN

(Option B) MSC

(Option C) Co

AR F=R H oW w9 T w5 (Gea w) 9 991 @91 8, 98 Feen @

prepp
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(Option A)
di g &
(Option B) TH UH HY

(Option C) @ a.ﬁ
(Option D) i+t T

Sl. No.87
QBID:591037

The scientific method of research is not hased on

(Option A)  Empirical evidence
(Option B)  ()hjective consideration

(Option €)  prghabilistic prediction

(Option D)  Syhjectivity

19 =i S gt FHeferiga W saifiE T8 8
(Option A) FEIT-I

(Option B) El'ﬁ!ﬁﬁ e
(Option C) e S
(Option D) =affaman

Sl. No.88
QBID:591038

Standard deviation is afan .

(Option A) Average amount of variation around the mode

(Option B) v 116 that occurs most frequently in a distribution
(Option C)  Average amount of variation around the mean

(Option D) Normal deviation around the mean

a frgem gl

(Option A) AEETE & SE - fa= i s w

Option B .
(Option B) & oM S agean T § g o g
(Option C) e 3 syrg—urmy Formr 1 s T

(Option D) 17 % syr-u AW faaem

prepp
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Deliberate sampling is also known as

(Option A)  pandom Sampling

(Option B) Purposive Sampling

(Option €)  gystematic Sampling

(Option D) Quota Sampling

fafmafisga & am & o 990 @0 R

(Option A) ﬁ B

(Option B) 4
TEeya Uia=aa
(Option C)

AR Siaaad

(Option D)
EICAN IEERE]

Sl. No.90
QBID:591040

A form of ethnography which applied to online or largely online communities is known as

(Option A) Network community

(Option B) Meta ethnography
(Option C)  Netnography

Option D .
(Option D) Online assessment

WA -A9 (UEATHTR) T U W W A SUE S Al W SfiAes augE 9 wam fRar

qAME, AR g Al
(Option A)
dea HEHE
Option B .
(Option B) o f
(Option C)

(Option D) e W
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Sl. No.91

QBID:591041
The National Intellectual Property Rights Policy of India has been prepared by

(A) Ministry of Education
(B) Ministry of Commerce and Industry
(C)  Ministry of Information and Broadeasting

(D}  Department of Industrial Poliey and Promotion
Choose the most appropriate answer from the options given below :

Option A
(Option 4) (A) and (B) only

(Option B) () and (C) only

Opti (o}
(Option ©) (B) and (D) only

(Option D) (A) and (D) only

w1 T s were wfuwn i Bas g fan g 2

(A) e mEeE
(B) anfisa i 3 s
(C)  H=1 HN TR e

(D)  ffnfe Aifd s Gad Twm

= fou o Tt % @ 999 399w I & =999 Fit
(Option A) S (A)EﬂI{B}

(Option B)

Fad (B) 3 (C)
(Option C)

== (B) 3 (D)
Opti D
(Option B) T (A) 3 (D)
Sl. No.92

QBID:591042
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According to Goodman the information life cyvele includes ;

(A) Design and ereation of records
(B) Restructuring of records
(C) Cireulation. Aecess, Loan, Use

(D) Marketing

Choose the correct answer from the options given below :
(Option A)  (A) and (B) only
(Option B) (A) and (C) only

(Option C) {B) and (D) enly

(Option D) ) 4nd (A) only

A F AJER AT A awH_ THA £ |
(A)  wfuerEl it feamga o 399 g9

(B)  wifaer@l =1 JrEEA

(C) =M, 9gd, 9, 3T

(D) fmm

ot fau o, Forest & @ wdt 3o 1 = Hifom

(Option A)

Fad (A) 1 (B)
(Option B) - (A) e (©
(Option C) =
e (B) # (D)
(Option D)
pron a9 (D) #W (A)
Sl. No.93

QBID:591043

prepp

Your Personal Exams Guide



www.prepp.in
Which of the following are kinds of extension service?

(A)
(B)
(€)
(D)
(E)

Choose the most appropriate answer from the options given below :

Inter Library Loan
Photocopy

Reading circles

Story hour for children

Organising a book fair

(Option A) (), (A) and (B) only

(Option B)

(B). (C) and (E) only

(Option C) (), (D) and (E) only

(Option D) Ay (B) and (D) only

frfafan # & #9-9 e @@ (vFedem afdm) & oFn 87

(A)
(B)
(€)
(D)

(E)

R JEaEeTE] B0
HIERTT

T2 HiFA

F= & forg werl @9
& Hel AT HAl

= fou o foeedi 7 & 599 I9F I 1 FEE S

(Option A)

(Option B)

#aa (C), (A) 3 (B)

#ad (B), (C) 31 (E)

(0PN C) 22w (0), (D) 311 (B)

(Option D)

4 (A), (B) 31 (D)

Sl. No.94
QBID:591044
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Which of the following are the products / services of INFLIBNET?
(A) IndCat

(B)  Shodh Shuddhi

(C) Vidyanidhi

(D Vidyamitra

Choose the correct answer from the options given below :

(Option A) Ay (B), (D) only
(Option B) (A), (C), (D) only
(Option C) (A), (B), (C) only
(Option D)

(B). (C). (D) only

sfoeee & 300 fHa fefafEa § 5 S H 87

(A) zEde

(B) w9 9fz

(C) Frenfafy

(D) Taenfim

o feu o famedi @ 9 At 3w w1 = Fife
(option AY (A), (B), (D)
(Option B)

#=4 (A), (), (D)

(Option ©) =5 (A). (B). (©)
(Option D)

a4 (B), (C), (D)
Sl. No.95

QBID:591045

prepp

Your Personal Exams Guide



www.prepp.in ' repp
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Your Personal Exams Guide

(A) Seience Citation Index Expanded
(B) Social Sciences Citation Index
(C)  Arts and Humanities Citation Index

(D) Agriculture, Biology and Environmental Science

Choose the correct answer from the options given below :
(Option &) (B), (), (D) only

(Option B)  (A) (B), (C) only

(Option C)
(A). (B), (D) only

(Option D) () ((), (D) only
I A F A AIEH Wi
(A) ﬁaﬁﬁﬁwa,ﬁl[ AT
(B)  mmaitr famm sgsor sgmi

(C)  =en UF AT S5 ST
(D) &, Safam i g fawme

e for o Ty 8 3w 3 = = il

(Option A) 3w (B), (C), (D)

(OPHON B) e (), (B), (©)

(Option C)

»

3w (A), (B). (D)
(Option D) 4 (A). (C). (D)

Sl. No.96
QBID:591046

Identify the fact sources among the following :

(A) Whitaker's Almanae, London
(B) Statesman's Year Book, New York
(C) The Columbia Gazetteer of the World, New York

(D)  Current Biography, New York

Choose the most appropriate answer from the options given below :

(Option A)



www.prepp.in
(A) and (B) only

(Option B)  (B) and (C) only

(Option C) {C) and (D) only

(Option D) (D) and (A) only

frfafian 7 9 721 g (%9 @) i w=e S

(A)  fogeeal srem, Hed

(B)  WHATH R, =5

(C) =7 =it TafER 3iE 7 908, =@
(D) =iz smEmTdl, =i

= fau o ot @ @ e 39 I H 9AA Fif

(Option A)

e (A) 37 (B)

(Option B) - ot (B) 381 (O)

(Option C)

-

wHad (C) S (D)

(Option D)

=ad (D) = (A)

Sl. No.97
QBID:591047

Web scale discovery services provide
(A) Content

(B) Discovery

(C) Delivery

(D) Blog contents

Choose the correct answer from the options given below :

(Option A (A), (B) and (D) only
(Option B) ) () and (D) only
(Option C) (C). (D) and (A) only
(Option D)

(A), (B) and (C) only

prepp
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(A)  fawa-awg

(B) @

(€) fomor (fefem)
() = =i Twa 95 g

o oo o famedl | & wdl 39 = =99 Fif

Opti A
(Option A) #a (A), (B), (D)

(Option B)
#ad (B). (C), (D)

(Option ©) 33w (0). (D), (A)

(Option D)

-

e (A), (B), (C)

Sl. No.98
QBID:591048

Who were involved in coining the term, “RAID"™?

(A) David Patterson
(B) William Katz
(C) Gorth A. Gibson
(D) Randy Katz

(E) John A. Gibson

Choose the correct answer from the options given below :

Opti A
(Option 4) (A), (B) and (C) only

(Option B) (B). (C) and (D) only
(Option C)  (A) ((") and (D) only

(Option D) (A}, (B) and (D)) only
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‘HI U R B 78 T | i e 97

(A) sfas tewm

(B) fafeam #ea

() e u, fimme

D) T FRS

(E) =i, fimm

= o mu faeeul | 9 9d 39 @ =999 S
(Option A)

(Option B)

(Option C)

(Option D)

Sl. No.99

Fae (A), (B) 3 (C)
4 (B). (C) 3T (D)

3 (A), (C) 3R (D)

Fae (A), (B) 3R (D)

QBID:591049

The object oriented programming is based on the following principles

(A) Inheritance

(B) Encapsulation

(C) Data Abstraction

(D Data filters

Choose the correct answer from the options given helow :

(Option A)

(Option B)

(Option C)

(Option D)

(A), (B) and (C) only
(B), (C) and (D) only
(A), (C) and (D) only

{A), (B) and (D) only

prepp
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weEgEl s e et fogEi wosmate @

(A) fmEa

(B)  dftHgeA

(C)  sTiewg! Herdim
(D) s s

e fou o fermeai ® © w1 3w w1 = i

(Option A)
a4 (A), (B) 3T (C)

(Option B)
%44 (B), (C) 3 (D)

(Option C) - (A), (C) i )
(Option D)
#ad (A), (B) 3 (D)

Sl. No.100
QBID:591050

The standards for hibliographic information interchange and communication are

(A) IS0 2709

(B)  Z39.50
(C) Z39.7
(D) CPM
(E) PEST

Choose the correct answer from the options given below :

(Option &) (A), (D). (E) enly
(Option B) ). (C). (1) only
(Option C)

(A), (B). (C) only
(Option D)

(C), (D), (E) only

prepp
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PRI e

(A)
(B)
(©)
(D)

(E)

e fam

(Option A)
(Option B)

(Option C)

(Option D)

Sl. No.101

= fafm vd "y % fo Feafafaa s 8

g UH #2709

3% 39.50

3= 39.71
=€ it ug
di s g &

LI = e B o s e e 2 0 [ L
Faa (A), (D), (E)

Fa4 (B). (C), ()
#ad (A). (B), (C)

%4 (C), (D), (E)

QBID:591051

Which of the following statistical packages are used for data analysis?

(A) MS-Excel
(B) SPSs

() MS-Access
(D) Mendeley

(£ R

Choose the correct answer from the options given below :

(Option A)

(Option B)

(Option C)

(Option D)

(A), (C). (E) only
(A), (B), (E) only

(C), (D), (E) only

(B). (C). (E) only

prepp
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frafafas aiferda e 9 & 3 8 s fazomm 2q 13 8@ #7

(A) UHTH - UEEA

(B) wATiwETH

(C) U TE-TFEE
(D) H=a
(E) =iy

i fow e ot @ it 3 1 e i
(Option A) Fae (A). (0), (E)

(Option B) w1 (A), (B), (B)

(Option C) Fa4 (C), (D), (E)

(OptionD) - (B). (C), (E)

Sl. No.102
QBID:591052

Which of the following are true of CILIP?

(A) Formerly known as ASLIB
(B) Formed in 2002
(C) Publishes LISA

(D) Headguarters at London

Choose the correct answer from the options given below :
(Option & (B), (0. (D) only
(OPton B) (A), (B). (D) only

(Option C) (A), (C), (D) only

(Option D) Ay (B), (C) only

prepp
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Hifera & @ § ffortad # 8 &9 8 A7 87
(A)  Ee a7 vH(CE F W F I o
(B) S8 TS 2002 H g3
(C) T =1 v = 21
(D)  sH e @iEd | #

o Tou T faemegl § § |81 390 1 999 it

(Option A)

(Option B)

(Option C)

#ae (B). (C), (D)
Fa9 (A), (B), (D)

4 (A), (0), (D)

(Option D)

a4 (A), (B), (C)

Sl. No.103
QBID:591053

Which of the following are elements of Job description?

(A)
(B)
(€)
(D)
(E)

Choose the most appropriate answer from the options given below :

Job summary

Job identification

Job satisfaction

Job activities and procedures

Job motivation

(Option A) (B). (C) and (D) only
(Option B) (A), (B) and (D) only
(Option C)

(A), (C) and (E) only

(Option D) (B) (C) and (E) only

prepp
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e faamn & v et 3 & w9 87
(A) = "W

(B) = sfaee

(C) = =gfe

(D) = Wi v FHEF

(B) =/ 3w

o Tou o foeregi & & w61 3 1 =EA it

(Option A)

(Option B)

Fad (B), (C) 37 (D)

-

a9 (A), (B) 3 (D)

(Option C)

(Option D)

a9 (A), (C) 390 (E)

#a (B), (C) 31 (E)

Sl. No.104
QBID:591054

Which of the following provides cloud hased Koha to the libraries?

(4)
(B)
(©)
(D)

Choose the correct answer from the options given below :

Duraspace
Liblime
Amazon

Informatics

(Option A)

{A) and (B) only

(Option B) (B) and (C) only

(Option C) (B) and (D) only

(Option D) (A) and (C) only

prepp
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Wﬂfﬁ q‘ﬂ' 'Ulﬂ'l'ﬁ' Z"FITHTF!T‘I qﬂﬁ?-[ ﬁqﬁ.ﬁaa ﬁ % ﬁq HEH W\% %? Your Personal Exams Guide
() T
(B) foeems
(C) wE=H
(D) T FEEHTEEq
o feu o faeeal & | |E 3 1 =9 i
Option A
(Option &) Fael (A) 3 (B)

(Option B) ot (B) = (©)

(Option C) W{B}ﬁ!([ﬂ

(Option D) ﬁq——[ (A) SﬂI (©)

Sl. No.105
QBID:591055

Expert system developed for rendering reference service are
(A) POINTER

(B) PLEXUS

(C) HAMLET

(D) PANDORA

Choose the correct answer from the options given below :

(Option A) {A) and (B) only

(Option B) () and (C) only

(Option C)
{A) and (D) only

(Option D)y 4nd (D) only
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HeoMl HaT % wEqdE g fehiaa faee womet # -
(A) =R

(B) wFEH

() e

(D) =M

Forer e fomei & & Wl 3w 1 s i

(Option A) T (A) b (B)

Oopti B
(Option &) Fae (B) 31T ()
(Option C)

e (A) 3 (D)
(Option D)

a4 (C) it (D)
Sl. No.106

QBID:591056
Chemical Abstracts include
(A) Author Index
(B) Keyword Index
(C) Patent Index
(D Region Index
(E) Publisher Index

Choose the correct answer from the options given below :

(Option A)  (A) (C) and (D) only

(Option B)  (py (B) and (D) only

(Option ©) (D) and (E) only

(Option D) (A). (B) and (C) only

prepp
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TEFE A1 | et 2 #
(A) s g

(B) 7= o= A

(C)  Ueme gt

(D) &= g

(E) sk ol

o Teu 7o fammedi # © =81 3w %1 =9 it

(Option A) = (A), (C) 31 (D)

(Option B)

A (A), (B) 3 (D)

(Option C) e (C), (D) S (E)

(Option D) .

e (A), (B) 31 (C)

Sl. No.107
QBID:591057

Primary role operators used in PRECIS are

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below :

Assembly

Key System

Action

Performer of transitive action

Part/Property

(Option A)

(A), (C). (E) only
(Option B) (C). (D). (E) only
(Option C)

(B). (C), (D) only

(Option D) () (D), (E) only

prepp
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wfifea # fferfian wafis v d@=es 996 8d @

(A)
(B)
(©)
(D)

(E)

ST (ST
e A

o

HHEHHRAT e

W &

o fou o faweal ¥ & wdl 3w % =9 Hifaw

(Option A)

(Option B)

Fae (A), (C), (E)

Faa (C), (D), (E)

(Option C)

(Option D)

== (B), (), (D)

Fa (B), (D), (E)

Sl. No.108
QBID:591058

Which of the following statements are correct in terms of PPBS?

(4)
(B)
(€)
(D)

Combines programme budgeting and performance budgeting
Seientific approach of budgeting
Formula is used

Incremental budget approach

Choose the most appropriate answer from the options given below :

(Option A)

(A) and (D) only

(Option B)

(B) and (D) only

(Option €) (1) and (B) only

(Option D)

{B) and (C) only

prepp
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i bt =t v % Fag | frafafas § 8 95 9 59 960 27

(A) T S e S e s e 2
(B) ¥ aee H A T B

(C) ¥ = WA & &l

(D) = TEfz® T3 39 &

o fou o et O & adl 3 = 9ga Fitau

(Option A) aﬁﬁ (A) Eﬂ'{ (D)

(Option B)
F4ad (B) 37 (D)
Option C
(Option ©) ad (A) 31T (B)
(Option D)
Fae (B) 31 (C)
Sl. No.109

QBID:591059
Which of the following are associated with TQM?
(A) Prevention and Zero defects
(B) Directive

(C) Continuous improvement

(I Based on slogans, exhortations and dependence on supervision

(E)  Total participation

Choose the correct answer from the options given below :

(Option &) x), (D). (E) only

(Option B) 1), (), (C) only

(Option C)  (A)_(()), (E) only

(Option D)y () (E) only

prepp
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freaferfan & & 17 8 & FL w9 | Halga 27

(&) FEw v g

(B) TEsme=

(C) [ gaw

(D)  T=ME, TS W s v wEe w Sk
(B) %= wrfiailt

e fou o Fermedi @ & wel Iv o = i

(Option A) = (A). (D). (E)

(Option B) w1 (D), (E), (C)

(Option €)== (A). (C). (E)

(Option D) = (B), (C). (E)

SI. No.110
QBID:591060

BIOSIS provides information services to

(A)
(B)
(C)
(D)
(E)

Choose the most appropriate answer from the options given below :

(Option A)

(Option B)

Social Science
Engineering
Biology
Zoology

Entomology

(A), (B) and (C) only

(B). (C) and (D) only

(Option €) (%) (D) and (E) only

(Option D) ) (E) and (A) only

prepp
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(A)  wwT faEe

(B)  sefiffon

(€)  fa fagm

(Dy =iy

(B) e fmm

fort fom o, formredl & wft S 0 = A

(Option A) e (A), (B) 38 (C)
(Option B) 3 (R), (C) =i (D)
(Option €) 3z (C), (D) it (E)

(Option D) 5y (1), (K) 3T (A)

Sl. No.111
QBID:591061

The gualities of a good notation are

(A) should convey order clearly

(B) should be numeric

() should be hospitable to new subjects
(D should be alphabetic

(E) should be mnemonic
Choose the most appropriate answer from the options given below :

(Option A) (A}, (B}, (C) anly

(Option B) () (), (D) only

Opti (o}
(OPton ©) . (D). (E) only

(option D) (A}, (), (E) only

3T=8 T & 7 e @

(A) 9 TIEEY § Gufa & =iy

(B)  HeTwas &1 =ey

(©) 74 FwEl % for wehrafier (aifereser) g =ifeg

(D) Wi 2 =iE
(B) ERoE g =1en

= fau o o @ @ = 39 I W 9AA i
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(option A) %‘qﬂ {A}T (BL {C] Your Personal Exams Guide
(Option B) = (B). (C). (D)
(Option €)= (), (D). (B)

(Option D) 3 (A), (0), (E)

sl. No.112
QBID:591062

The main objective of the research is

(A) To gain familiarity with a phenomenon

(B) To test the hypothesis of a causual relationship between variables
(C) To get a research degree

(D)  To get professional benefits

(E) To portrary accurately the characteristics of an individual/situation

Choosze the correct answer from the options given below :

(Option A)  A), (B). (E) only

(Option B) (B), (C), (E) only

(Option C)
(C), (D), (E) only

(Option D) 4y (), (D) only

w1 g 3559 R

(A)  fegeT F 91 ° =01 AEEAT WH w0

(B) =0 % FEER0 gAY I 9T F T FE

(C) g fefi o Fn

(D) =Emigs =19 919 =T

(E) et =i/ sraen i fasmensti =1 ot =9 9 fofm =

o fa o Pt & @ il 30 e i

(option A) =1 (A). (B), (E)

(Option B) 3 (B), (C), (E)
(option €) = (). (D), (E)

(Option D) 3z (A), (C). (D)

Sl. No.113
QBID:591063
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The characteristics of an hypothesis are : Vour Pereonal Exome Guide

(A) it should be clear and precize

(B) it should state the relationship between variables
(C) it should explain the earlier study results

(D) it should be consistance

(E) it must explain the facts that gave rise to the need for explanation

Choose the correct answer from the options given below :

Option A
(Option &) A), (B), (C) only
(Option B) () (), (D) only
(Option C)

(C). (D), (E) only

(Option D)  (A), (B), (D) only
aftwean & sifiraem feafafiaa -

(A) ¥ T TF AR BT ST

(B) @7 T % weg 599 FaH Ie0 241 91y

(C) 38 T sorem aiom 1 sAwenti F =i

(D) @& GETA A =TE

(E) =0 w9y ®9 ¥ 39 9247 $l =AW F1 S0 A AT 6 STl 6 39 §

et o e e & @ 6l S 1 o i
(Option A) 3 (A), (B), (C)
(Option B) 3 (B), (C), (D)
(Option C) === (), (D). (E)

(Option D) (A), (B), (D)

Sl. No.114
QBID:591064

Which of the following describes Special Library?

(A) Emphasis on handling of informational materials rather than educational materials
(B) Collection iz delimited by subject area
(C) Service is provided to further the objectives of parent institution

(Dy Any one can use the library

Choose the correct answer from the options given below :
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(Option B) (B), (C). (D) only

(Option €) (A} (), (D) only

(OPtionD) Ay, (B), (D) only

fferfaa 9 & #7 § fasm qeasem #1930 0 87

(A) = Sifer amimE $i e g T % e a9 50 g
(B) Tawa &= F snaw v wyE i Hw Fgite g
(C) T HEIH & 355991 § U " 9gF i S 21

(D)  JETREE H S FE 9 A 2

Fre fou o foepestt & @ it 3T < o hifo
(Option A) = (A), (B), (O)
(Option B) 3 (B). (C). (D)
(Option €) = (A). (). (D)

(Option D) 35 (A), (B), (D)

Sl. No.115
QBID:591065

Content Management System possess following characteristics

(A) It 1s a static system

(B) Provides an interface for content providers to add their content
(C) Knowledge of HTML is not mandatory

(I It holds only unstructured data

Choose the correct answer from the options given below :

Option A
(Option A) (A) and (B) only

(Option B) (B) and (C) only

(Option C) {(C) and (D) only

(Option B) 1) and (D) only
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(A) =% vk eifeen o 2

(B) e sindeg SErmal # ST sindeg i el % R U ST W2 w0 3

() v E T W A whE T

(D) 36 Fad swEE S 9 ST

Fra o o et & & et 3 0 e A
(Option A)  Fam (A) 377 (B)

(Option B) e (B) 317 (C)

(Option C) #ﬂ (8] 3:;1'{ (D)

(Option D) g (A) &l (D)

Sl. No.116
QBID:591066

Arrange the following in ascending order according to their year of origin

(A) FRBR
(B) CCF
(C) MARC21
(D) RDA

Choose the correct answer from the options given below :

(Option A)
(B). (C), (A, (D)
Opti B
(OpEen B (o), ), ®), ©)
(Option C)
(A). (B), (O), (D)
(Option D)

(C). (A), (B), (D)
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(A) UF AR AW

(B) #Hrdiuw
(C) =k 21
(D) =WIT

A% fo e et 8 w0l o < i
(Option A) (B)_(C), (A. (D)

(Option B) (), (A), (B). (C)

(Option C) - (ay (B). (C). (D)

(Option D) ({7}, (A), (B), (D)

Sl. No.117
QBID:591067

Arrange the following in ascending order from the year of their inception

{A)  AGRIS

(B) Medline

(C) Ei-Compendex
(D)  BIOSIS

Choose the correct answer from the options given below :

(Option A)
(D), (A), (B), (C)

(Option B) () (B). (C), (D)

opti C
(OPHOnC) ), @), ®), (A)

(Option D) (B), (D), (C), (A)

frferfiaa #1 395 TR 99 % a0 SIE #N | syafedd i

(A) uim

(B)  Heems

(C) 3 FR-Fe
(D)  =mEiGE

Hi= fou v faeegi § § 98 39 %1 994 hitau
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(Option A) (), (A), (B). (C) repp

Your Personal Exams Guide

(Option B) ) (@), (C). (D)
(Option C) (C), (D), (B}. (A)

(Option D) (B (D). (C), (A)

Sl. No.118
QBID:591068

Arrange the Public Libraries Act as per their year of Enactment in Ascending order

(A) Mizoram Public Libraries Act
(B) Goa Public Libraries Act
() Haryana Public Libraries Act

(D) Manipur Public Libraries Act

Choose the correct answer from the options given below :

(Option A)  (A)_ (B), (D), (C)

(Option B) vy (R (A). (D)

(Option C) (B), (C), (D), (A)

(Option D)
(D). (C), (A). (B)

s TeE AR W I e T F SR S =R R
(A Tashim et gowem sfufEm

(B)  Tiran i GEaderd st

(C)  wfemn wEwE ey sfafEe

(D) =i Erdte qETeRea At

1= fau o Faeredi & & wdt 3w w1 T A
(Option A) Ay (B), (D). (C)
(Option B) () (B), (A), (D)
(Option C) (B), (), (D). (A)
(Option D) (D), (C). (A), (B)

Sl. No.119
QBID:591069
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Logical steps involved in providing SDI should be

(A) Feedback

(B) Notification
(C) User profiles
(D) Database

(E)  Matching

Choose the correct answer from the options given below :

(Option A)
(A). (B), (C), (D), (E)
(Option B)
(B). (C), (D), (E), (A)
Opti C
(OPHORC) ¢y, (D), (B), (B, (A)
(Option D)

(D). (A). (B), (), (E)

TH € 3% WEH F ATl a0 G A9H g aGiee

(A)  wfgfe

(B) famfm

(C) I AHEeH
(D) sEEE

(B) & (giem)

A e e et # % et 3 A i
(Option A) (A (B), (), (D). (E)
(Option B) (B), ((), (D). (E), (A)
(Option C)  ((y (D), (), (B). (A)

(Option D) (py (A). (B), (C), (E)

Sl. No.120
QBID:591070

prepp
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Arrange in sequence the steps of automated acquisition
(A) Claims
(B) Cancellations
(C) Ordering
(D}  Heceived item processing

(E) Received invoice processing

Choose the correct answer from the options given below :

Option A

(Option A) (E), (C), (B), (D), (&)
Option B

(Option B) (B). (C), (D). (A). (E)
(Option C) (C), (D), (E). (A), (B)
(Option D)

(D). (C), (A). (E), (B)

wH=1fem TH & HET 6 FAER saatedd Hia ;

(A) =@
(B) g A
(C)  #=S F

(D) W 98 Efan F=E

(B) o = danfia &=

H= o o fawegi 9 @ a9 39 = =999 Hifa
(Option A) (E) ((). (B), (D). (A)
(Option B) (B)_ (), (D). (A), (E)
(Option C) (), (D), (E), (A), (B)

(Option D) (yy (), (A), (E). (B)

Sl. No.121
QBID:591071

prepp
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Arrange the following in a logical order from beginning to end

(A) Selection of research problem
(B) Identification of research area
() Collection of data

(M Research design

(E) Analysis of data

Choose the correct answer from the options given below :

(Option A) (A). (B), (D). (C) and (E)

(Option B) (B). (D). (A). (E) and (C)

(Option C) (B). (A), (D). (C) and (E)

(OptionD) .y (B). (A), (C) and (E)

frferfian =1 57w | 70 % 7% @0 #H | Faregd Hiraw

(A) g T w5
(B) g &= F TEEH
(C) == &mEm

(D) =g H=

(By =& fazemm

it fau e faedt 6 2wt 3o 1w il
(Option A) Ay (B), (D), (C) 3T (E)
(Option B) (B). (D), (A). (E) 3 (C)
(Option €) (B)_(4), (D). (C) 3t (E)

(Option D) () (B), (A), (() 3fT (E)

Sl. No.122
QBID:591072

prepp
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Arrange the following content management software in an ascending form according to their

Your Personal Exams Guide

first released version
(A) Word press
(B) Joomla

(C)  Drupal

(D) Magento

Choose the correct answer from the options given below :

Option A
(Option A) (). (A). (D), (B)
Option B
(Option B) (A). (C), (B). (D)
(Option C) (B). (X)), (D), (C)
(Option D)

(C), (A), (B), (D)

Frafarfan sindeg TaaT TR F T TN TR & A A & STEN SRR F ° saEtedn i

(A) =E3@

(By =Fmen

(€) g

(D) #=

Hrar fou o el 4 | a8 3o % = it

(Option A) (%) _(A), (D), (B)
(Option B) () ((), (B). (D)
(Option C) (B (A), (D), (C)

(Option D) (), (A), (B). (D)

Sl. No.123
QBID:591073
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Arrange the following in an ascending order from the dates of their first publication ,
Your Personal Exams Guide

(A) Index Medicus
(B) Oxford English Dictionary
(C) Imperial Gazetteer of India

(D Encyclopedia Americana

Choose the correct answer from the options given below :

(Option A) () (4), ((). (D)

(Option B) ). (). (D). (B)
(Option C)

PHOREY 0. @), @), B)
(Option D)

(D). (B), (C). (&)
Frferiion =1 39eh1 WO w9 1 A9 § A HE H saaredy i

(A) v HiswH

(B) A 3w fermadt
(C)  ifere THfeR st sfen
(D)  wATEEETTEE SR

A faw e fopedt & & wdl S 1w i
(Option A) (B), (A), (C), (D)
(Option B) (A) ((), (D). (B)
(Option €) () (D). (A), (B)

(option D) (D), (B), (C), (A)

Sl. No.124
QBID:591074
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Arrange the following programming languages in an ascending form according to their year of

Your Personal Exams Guide

development

(A) Cobol
(B) C
(C) Java

(D)  FORTRAN

Choose the correct answer from the options given below :

Opti A
(Option &) ¢y, (@), (A), (B)
Opti B
(©ption B) ). ), (©), (B)
(Option C)

(C), (A), (D), (B)
(Option D)

(A), (C). (D). (B)

frferfian wanfim e i 33 o a4 & wgen wE #6 9 =afen $ifw

(A) =T

(B) i

(C) EiC|

(D) wReH

1= f&u o fameal 4 9 |d 39 % =999 $ifa

(Option A) () (ID), (A). (B)
(Option B) (1), (A), (C). (B)
(Option C) () (A), (D), (B)

(Option D) Ay ((), (D). (B)

Sl. No.125
QBID:591075



www.prepp.in ' repp
Arrange the facets for the given title as per the facet formula of calon classification

Your Personal Exams Guide

“Devaluation of Indian currency in 1970°s"
(4A) Devaluation

(B) India

() Paper Currency

(D) Money

(E) 1970's

Choose the correct answer from the options given below :

(Option A) (A), (C), (B), (D), (E)

(Option B) 3y (D). (E). (A). (C)

(Option C) (D). (C), (A), (B), (E)

(Option D) 1y, (|). (B). (C). (A)

e T 3 T T o SR 5 T Ei % fo v safem i -

%ﬁwﬂ HE -gf‘g-q:[ Tt 1 19708"

(A) e

(B) sfem

(C) U9 =i

(M

(E) 1970s

1 o o Foedt 6 & T 3 1 PR A

(Option A)  (A)_((), (B). (D). (E)
(Option B) (B), (D), (E), (A), (C)
(option €) 1y, (). (A). (B). (E)

(Option D) 1yy (), (B, (C), (A)

Sl. No.126
QBID:591076
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Match List [ with List I :

List 1 List 11
Communication Model Year of origin
(A) Charles E Osgood’s Model () 1956
(B) Harold D Lasswell's Model {Il) 1954
()  Shannon and Weaver's Model (IIT) 1948
(D) George Gerbner's Model (IV) 1949

Choose the correct answer from the options given below :
(Option A)  (A)-(IV), (B)-(ILI), (C)-(1T), (D)-(D)

(Option B) () (111), (B)-(II). (C)-(IV), (D)-(T)

(Option €) () (111, (B)-(IV), (C)-(IT), (D)-(T)
(Option D)
(A)-(IT), (B)-(I11), (C)-(IV), (D)-(I)
g1-1 % 719 & gefi-11 faem $ifsw .
-1 -1
HaW WEY (") Feata a9
(A) =Ted § S e (h 1958
(B) #Ues 9t TWEe WEY (ID 1954
(C) 39A vF g9 7Y (TID) 1948
(D) =TS e W (IV) 1949
A fou o famedi 6 & |8 39 % = Hifa .

(Option A)  (A)(1V), (B)-(ILI), (C)-(IT), (D)D)
(Option B) (A (I11), (B)-(I1), (C)-(IV), (D)-(I)
(Option C)  (A)(I1I), (B)-(IV), (C)-(11), (D)-(D)
(Option D) (o) (11, (B)-(HIT). (C)-(IV), (D)-(1)

Sl. No.127
QBID:591077

prepp
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Match List I with List I1 : Your Personal Exams Guide
List I List 1T
Tvpe of Library Characteristics

(A) Special Library (I) Duty of collecting the literary products
of country

(B) Public Library (I} Serve to the need of personnel of
parent hody

(C) National Labrary (III) Aim 1s to help in research, teaching
and extension

(D}  Academic Library (IV) Established under clear mandate of
law

Choose the correct answer from the options given below :

(Option A)
(A)-(I1I), (B)-(1L), (C)-(IV), (D)D)

(Option B) (o) (1V). (B)-(IIT), (C)-(IT), (D)-(T)

(Option C) (A)-(D). (B)-(IV), (C)-(ITD), (D)-(ID)

(Option D) (A)-(II), (B)-(IV). (C)-(I), (D)-(111)

g1-1 % e 1 geit-11 foem $ife .
Gigt =11
ETRICTE 1 TN TerrgaTd
(A) faem g () 2w = foren gt semdl & duem 1 Ao
(B) wEFHF R (I) =g |Ig @& & Hiibhi =1 SAETIHaAT I
i e @
(C) TEE TaFeE (I 39 @& wia, foam v foram & ge@a
F B
(D) sifark geeE (V) fafa & == sz gm0 wafim

IR TR S G e |l I T HFifFw -
(Option A) - (A).(TII), (B)-(IT), (C)-(IV), (D)D)
(Option B)  (A)-(IV), (B)-~(III), (C)-(IT), (D)-(T)
(Option C) - (A)-(I), (B)-(IV), (C)-(11), (D)-(IT)
(Option D) - (A)(II), (B)-(IV). (C)-(I), (D)-(I1T)

Sl. No.128
QBID:591078
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Match List I with List II :
List 1
Authors
(A) Katz, A

{B) Rowley, JE
{C) Dennis Grogan
(D) Ranganathan, SR

prepp

Your Personal Exams Guide
List 11
Books

()  Science and technology :
An introduction to literature

(II) Reference service
(TII)
(IV)

Introduction to Reference work

Abstracting and indexing

Choose the correct answer from the options given below :

(Option A)
(Option B)
(Option C)

(Option D)

Hef1-1% | 1 gt 11 faem Fifsm
-1
g

(A) =Zd, T

(B) T,

(C) zfmarm

(D) A, T HR

Fi= fou o fawegi @ 8 w6 I = 999 Fifsw

(Option A)  (A)(IIT), (B)-(IV), (C)-(T), (D)-(ITy
(Option B)  (A).(1), (B)-(IIL), (C)-(IV), (D)-(I)
(Option C)  (A)-(I1T), (B)-(T), (C)-(I1), (D)-(IV)
(Option D) Ay (1T), (B)-(IV). (C)-(I11), (D)-(T)

Sl. No.129
QBID:591079
Mateh List I with List 11 :
List 1
File Extensions
(A) .wav
(B) .pdf
(C) .ped
(D} .and

(A)-(ITD), (B)-(IV), (C)-(I), (D)-(ID
(A)-(I), (B)-(I1D), (C)-(IV), (D)-(ID)
(A)-(I1D), (B)-(D), (C)-(11), (D)-(IV)
(A)-(ID), (B)-(IV), (C)-(I1I), (D)-(D)

-1
T
(I) =EF Us THEE T sEseE g e
()  fow= =f¥w
(Ill) s=Zrewm Z fremg =5
(V) weagF U v

List II
File Format
(Il structured
(I) 1image
(ITI) wvideo
av)

audio

Choose the correct answer from the options given below :
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(Option A) {(A)-(IV), (B)-(D), (C)-(ID), (D)-(L1D)

(Option B) - (ay (111), (B)-(I1). (C)-(T). (D)-(IV)

(Option C) (A)IID, (B)-(D), (C)-(ID), (D)-(IV)

(Option D)  (A)(I1), (B)-(D), (C)-(IV), (D)-(I1T)

-1 % |9 %1 g1 e i
-1
HISE UERHTA
(A) .wav
(B) _pdf
(C) .ped
(D) .snd

A% fou T Fareet 6 & W I S A

(Option A)  (A)-(IV), (B)-(T), (C)-(IT), (D)~(ITD)
(Option B)  (A)(I1I). (B)-(I1), (C)-(L), (D)-(IV)
(Option C)  (A)(TIT), (B)-(I), (C)-(IT), (D)-(TV)

(Option D) (A).(11), (B)-(T), (C)-(TV), (D)-(ITTy

SI. No.130
QBID:591080

Match List [ with List I :

List I

Information centres
(A) NICLAI
(B) NICFOS
(C) NICMAP

(D} Drugs and Pharmaceuticals

F=-11

e FIHE
(O @ ()

=

(I ===
(11T itz
(IV) sitsat

List II

Location
{I) Bangalore
(II) Lucknow
(IIT) Chennai
(IV) Mysore

Choose the correct answer from the options given below :

(Option A) (A)-(T), (B)-(TT), (C)~(ITT}, (D)-(TV)

(Option B)  (A)(I1), (B)-(I1T), (C)-(IV), (D)-(I)

(Option C) (A)-(ITI), (B)-(IV), (C)-(D), (D)-(IT)

(Option D) Ay (1), (B)-(ILI), (C)-(ID), (D)-(I)

prepp
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qH1-1% =19 1 H=A1-11 faem Fifsw

-1 11

TAFM g feafa
(A) T =S uE v g () e
(B) T o €t uk ™ (1) s
(C) v =S o (1) =73
(D) 3 TA wHiEgfew (IV) &
#= feu o famedi ° & ad 3w = =99e St

(Option A)  (A)-(I), (B)-(IT). (C)-(IT), (D)-(IV)
(Option B) - (A).(IT), (B)-(IT), (C)-(IV), (D)-(T)
(Option C)  (A)(I1I), (B)-(IV). (C)-(1). (D)(ID)
(Option D) (4)(IV), (B)-(I1I), (C)-(1T), (D)-()

Sl. No.131
QBID:591081

Match List I with List IT :

List 1 List 11
Propounders Theories
{A) Herzberg (I} Expectancy theory
{B) Vroom (II) Goal setting theory
(C) McClelland (I} Hygiene theory
(D) Edwin Locke (TV) Achievement, Affiliation and Power
need theory

Choose the correct answer from the options given below :

(Option A)
(A)-(D), (B)-(IV). (C)-(I1L), (D)-(I1)

(Option B)  (p) (1), (B)-(I), (C)-(11), (D)-(LLT)

(Option ) (A)(11), (B)-(I11), (C)-(I). (D)-(IV)

(Option D) (A)-(TIT), (B)-(T), (C)-(IV). (D)-(IT)

prepp
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@-I @—H
TEGTFER fagr=
(A) wa () wemm fagr
(B) 7=H (I @z fFaww fagr=
(C) A% Forews (T1) == fagma
(D) usta ih (IV) Iyaf, Aey= vd wifF Tavasa = fagma
A1 fan, o el F & & I # ww Aif -

(Option A)  (A)(1), (B)-(IV), (C)-(I1), (D)~(IT)
(Option B) - (4).(IV), (B)-(I). (C)-(I), (D)-(I1D)
(Option €)  (A)-(IT), (B)-(ITT), (C)-(T). (D)-(IV)
(Option D)  (A)(III), (B)-(I). (C)-(IV), (D)-(IT)

Sl. No.132
QBID:591082

Match List [ with List 11 :

List I List 11

Classification Scheme Year
(A) DDC () 1904
(B) UDC (I) 1933
(Cy CC (II) 1876
Iy LC (IV) 1905

Choose the correct answer from the options given below :
(Option &) (A).(III), (B)-(IV), (O)-(11), (D)-(T)
(Option B) - (A)-(1), (B)-(I11), (C)-(ID), (D)-(IV)

(Option C)  (A).(11), (B)-(IV). (C)-(I1T), (D)-(T)
(Option D) (A).(TV). (B)-(II). (O)-(T). (D)-(I1T)
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T=ft-1 % a9 = -1 fiaemm i

1

arfiane AT
(A S
(B) #siH

() ==
(D) U=

=1 fau mu fameul O & w8 39 % =94 Sl

(Option A) Ay (111), (B)-(IV), (C)-(IL), (D)-(I)

(Option B) (A)-(T), (B)-(ITI), (C)-(II), (D)-(IV)

(Option C)  (A)(II), (B)-(IV), (C)-(I1T), (D)-(I)

(Option D) (A).(1V), (B)-(II), (C)-(T), (D)-(IIT)

Sl. No.133
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Match List I

List 1

with List IT :

O8S1 layer
(A) Physical layer

(B) Network layer

(C) Transport layer

(D}  Application layer

(D
(1)
(I1T)
(IV)

)

4y

(I1I)

(IV)

11

1904
1933
1876

19056

List IT
Functions of layer

Concerned with orderly exchange of
data between computers connected on

LAN

Ensures data is received reliably by
the receiver

Supports mail transfer, file transfer,
remote login ete.

Primarily concerned with data
transmission speed

Choose the correct answer from the options given below :

(Option A)

(Option B)

(Option C)

(Option D)

(A)-(IV), (B)-(ID), (C)-(D), (D)~(I1I)
(A)-(IV), (B)-(I), (C)-(1I), (D)-(11T)
(A)-(ID), (B)-(T), (C)-(I1T), (D)-(IV)

(A)-(IID), (B)-(I), (C)-(IV). (D)-(ID)

prepp
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T il
AT TH IS A TTE & A
(A) HifeE wE () = & W 92 FG & 7 3 F FHAN
HEH-TZM B T 2
(B) ek wa (I) == ghfraa = & & wwswal g0 =@
TrraarmarET W e w2
(C) vftas e (IIT) 7% Wel S, F5a 3w, fore anfim anfg
I \9TE #Al £l
(D) ST T (IV) 9% 51 590 7fa & gEd | @6t 21

e fom e faeedi 3 @ A 3 = A
(Option A)  (A)(1V), (B)-(II), (C)-(1), (D)~(I1I)
(Option B)  (4).(IV), (B)-(I), (C)-(IT), (D)-(I1T)
(Option C)  (xy (11, (B)-(1). (C)-(TIT), (D)-(IV)

(Option D) - () (I11), (B)-(D), (C)-(IV), (D)-(11)

Sl. No.134
QBID:591084
Match List I with List IT :
List 1 List 11
Institute Type of Library
(A) Tata Institute of Social Science (I) Corporate Library
Library
{(B) Khudha Baksh Oriental Library (II) Academic Library
(C) BARC Library (II1) Public Library
(D) TCS Library (IV) R & D Library

Choose the correct answer from the options given below :

Option A
(Option A) (A)-(T), (B)-(ITL), (C)-(1T), (D)-(IV)

(Option B)  (A)-(II), (B)-(IT1), (C)-(IV), (D)-(I)

(Option ) (ay.(111), (B)-(T), (C)-(IV), (D)-(IT)

(Option D) Ay (1V), (B)-(TI). (C)-(D). (D)-(TTT)
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g1 % | & g1 firem i

w11

HEH

(A) = SEEEE ST G 95E P @
(B) &1 o SAIfU=e e (11

(Cy =i ¢ s iR & g
(D) i vH TEEeE

(I10)
(IV)

Hra feu mu fawedi 9 & | 39t % = it

(Option A)  (A).(T), (B)-(ITT). (C)-(IT), (D)-(TV)

(Option B)

(Option C)

(A)-(IT), (B)-(ITI), (C)-(IV), (D)-(D)
(A)-(IID, (B)-(1), (C)-(IV). (D)-(1I)

(Option D) (7). (1V), (B)-(IL), (C)-(1). (D)-(11I)

Sl. No.135
QBID:591085

Match List T with List I :

List I

Methods
{(A) Analysis of historical records (T)

(B) Analysis of documents (ID

(C) Non participant direct observation

(D) Participant observation

(1I1)

(IV)

11

TEAHEA o TR
o geRE
Hftrw grawE

¥ U € TEEed

List 1T
Primary technigues

Observational behavicural scales, use
of score cards

Interactional recording possible use of
AN recorders

Statistical compilation, manipulation
content analysis

Recording of notes, content analysis

Choose the correct answer from the options given below :

(Option A)

(Option B)

(Option C)

(Option D)

(A(D), (B)-(11I). (C)-(11), (D)-(IV)
(A)-(IV), (B)-(I1I), (C)-(1), (D)-(II)

(A)-(ID), (B)-(IV), (C)-(I1D). (D)-(D)

(A)(ITD), (B)-(I), (C)-(IV), (D}-(ID

prepp
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-1 |1y = -1 fram Fifse

(A)
(B)

(©)
(D)

=l
fafer

ufaerta siwrEt w1 favemm
FEAEA = e

1 ggvrll geae =1 Je
HeHrl dEo

19 fau o famei 4 9 | 39 %1 999 Hifau

(Option A) 1y (1), (B)-(ITT), (C)-(IT). (D)-(IV)

(Option B) Ay (TV), (B)-(III), (C)-(I), (D)-(IT)
(Option C)  (A)(IT), (B)-(IV), (C)-(ITT), (D)-(T)

(Option D) (A)(T1T), (B)-(T), (C)-(IV), (D)-(IT)

Sl. No.136
QBID:591086

(Given below are two statements ;

Statement [

Statement [1

beings.

prepp
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-1
Tt TR
() el =R Fhed, Thit F1E & 590
(I) s==rsEiERTen, witsar/difsa =1 g
i

(I1T) wifeTm Ber, THeH sade fazemm
(IV) =aei # frawrfen, s frvemm

A natural language is developed for communication of ideas among human

An indexing language is a uncontrolled language.

In the hight of the above statements, choose the correct answer from the options given below

(Option A)

(Option B)

(Option C)

(Option D)

Both statement [ and statement II are true

Both statement 1 and statement 11 are false

Statement [ is true but statement II is false

Statement [ is false but statement 11 is true

= 3 7o g £

Fq 1

a4 11 :

HIE % #= [EER o T w SE A e we f)

FAFHOR AT O AR A R

IFF FH F AT 5, 79 o Gwea 4 8 78 3w = 95 Fifsu

(Option A) e [ 3fit 11 541 503 &



www.prepp.in
(Option B) =u= [ 30t [1 241 =6 & 'repp
Your Personal Exams Guide

(Option C)  muw | wew &, wifa w9 11 5@ &

(Option D) o | symew &, ek o 11 @79 2

Sl. No.137
QBID:591087

Given below are two statements @ One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) Cloud computing is facilitating the libraries for pooling the resources.

Reason (R) : Resource pooling has helped the libraries to share skilled manpower in

cloud.

In the light of the above statements. choose the correct answer from the options given below

Opti A
(Option A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(Option B)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(Option C) (A) is true but (R) i= false
(Option D)

{A) 15 false but (R} 1s true

ﬁﬂiﬁwﬁt{ﬂﬂﬁ:E}ICﬂﬁiﬁﬁﬂ(Assertian[ﬁ}}%@ﬁ%ﬁﬁﬁ%?ﬁ?gﬂﬂ?ﬂaim(Reaaﬂn{R}}
FETH
AfFET (A) - T T + T TS FE e f 5 w1 2

19 (R) : HATGA ThEA § FAISE H FI WA I F A FA H [EAHEEA ) TR 2

it e % et H, A g o, e i @ w3 o i
(Option A) - (\y 3w (R) 21 wea § 3t (R), (A) 1 5 =21 3
(Option B)  x) 5y (R) aii wea &, R (R), (A) 1 &l samean 48 3
(Option C) (A 5eg 2, wifet (R) 5787 2

(Option D) 1y sy 2, <ifif (R) &e 3

Sl. No.138
QBID:591088
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(GGiven below are two statements : One is labelled as Assertion A and the other ig labelled as Your Personal Exams Guide
Reason R.
Assertion (A) ; Public libraries in India emphasize on library cess.
Reason (R) : The states not having Public Library Act do not have a provision of Library
CEess.

In the light of the above statements. choose the correct answer from the options given below

(OptionA) o (A) and (R) are true and (R) is the correct explanation of (A)
(Option B)  p.th (A) and (R) are true but (R) is NOT the correct explanation of (A)
(Option C) (A) is true but (R) is false

(Option D)  (A) is false but (R) is true

= &1 = fqu g # : uF AfuEE (Assertion (A)) #F w9 # fafiaa 2 @1 g9 389% F91 (Reason (R))
FETH :

AR (A) : HAR H AEAAE JEEeE, e 3T T 99 2 )

& (R) - 9 v fo anaate qEasrer sifafaem T8 & 39 qRadier S &1 WIagH 6 2l

S S % S 9§, A 2 T e # & @ I e i |
(Option A) (A i (R) 2 & & i (R), (A) i &t =me 2
(Option B) () 5 (R) 21 &7 5, @i (R), (A) 1 w1 == 78 2
(Option C) Ay mmy 2, w3 (R) w87 2

(Option D) (A s7mer 3, A (R) 7 2

Sl. No.139
QBID:591089

Given below are two statements :

Statement [ :  Performance measurement is feedback mechanism to support decision
making in libraries.

Statement I1 :  Performance measurement is simply concerned with collecting data

associated with pre-determined goals and quantitative in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Option A
(op ) Both Statement I and Statement II are correct

(Option B)
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Both Statement I and Statement Il are incorrect
Your Personal Exams Guide

(Option €)  giatement I is correct but Statement IT is incorrect

(Option D) gt tement I is incorrect but Statement 11 is correct

e 7 o Fm e #

Fg9 1:  EaEEdl 7 e & awda & forn Femea are v wfagfe 99 21
Fo [1:  Foaes 5@ ome 59 8 [@hdiie @e § 99g 5@ 990 § Fatoa @ o e v

HTEHEF B

I FA o+ ST §, 919 50 T FEed § § we9E 39T I H F9 Fa
(Option A)  =um [ =i 11 2H1 941 &

(Option B) = [ it I1 3H1 7 2
(Option €)ooy [ 2, wifer v 11 7ot &

(Option D) o [ 7wy 2, i =9 [1 @71 2

Sl. No.140
QBID:591090

Given below are two statements : One is labelled as Assertion A and the other 1s labelled as
Reason R.

Assertion (A): A vibrant Intellectual property ecosystem is an asset for the intellectuals.

Reason (R) : Intellectual property Rights protect the rights of the creators from misuse.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(Option A)  Both (A) and (R) are correct and (R) is the correct explanation of (A)

(Option B) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(Option C) (A} is correct but (R) is not correct

(Option D) Ay s not correct but (R) is correct

= 71w fGu o & © v st (Assertion (A)) % ®9 # ffaa # a1 250 386 FR0 (Reason (R))
%E‘Jﬁ:

sfiwed (A): e Alifgs wwgn wiideafa i 9 atg & o 4o 2
F9 (R) : iz AT Asn FFl F SAfuFER S goEm § s w9

I FEA F AT 4, 9 B e e § 8 998 3urE 3w = il

(Option A)
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(Option B) Ay 5ty (R) 21 &4 5, &% (R), (A) #1581 = 7¢1 &

(Option C) (A) wEl &, S (R) a8 78 2
(Option D) () & = 2, wif (R) B &

Sl. No.141
QBID:591091

Read the given passage and answer the questions that follows (91-95) :

A century ago, library Services were focused on architecture, physical workflow design and
urban planning. Planning the physical environment is still important, but more often than
not, it serves as the backdrop for patrons operating in a world dominated by online
information sources. The experience and preference of library users is being affected by other,
non-library services such as Amazon, Google, Facebook, Twitter, and social question and
answer sites, etc., Library catalogs have long been the point of discovery and delivery of
content. People want to find information quickly and conveniently, and thev expect the
interface to be familiar to them. Unfortunately, libraries have not consistently employed their
usage data to fully mobilize discovery services in the same way as Google. Providing seamless
points of access to the content people discover through other online services could be a point of
distinction for libraries. A study concluded that access— not discovery—is the major challenge
for today’s information seekers, who may be better served by online library catalogs that
improve delivery and provide more links to more online content. [t is true that services like
Google help people discover content more guickly and conveniently, but their search results
often leave them wanting more. When faced with sifting through a lot of content, people want
search engines that return information relevant to their search queries in order to minimize
their need to evaluate the content.

= & ™ e =1 9l v9 36E wEiun 9w % I A (91-95)

TRl O e WA T Hifoe HE WaTE S UF A A 9 wfza off | difos g $i
At 1 o wEcat 2, R Wi AR s g |l & eniyuea e v § wr wememane i
e H FE A ¢ (SR STAraIs & ANE UF SFal S -qEaeed e 2aiel au sHe,
T, HEaE, fEaet v amifaew ueA qu 3 qadt @ged afg g wifEa @ §| gEeeE shedin o
A d fava o 6 @9 vd vEreelt F g 1w §1 9m g 1w vE gfaerees @0 8 o 9 § i s
37 SevRd | uftfaa & i /e i §1 guiTaaw, e | @@ gae ® O e Uh 92 e @ s
# 37 e % I 7 Fia 98 21 fav-aw o w5 F gw fagen # wan w1 F o | s
HAETE HANS G & fon v fafe fag % memm | aemm #) vw e § wen e @ T w
TH, afesdh TEA aAHH F 3 GAN Gl o wE A R e seer Fea F g awa 20
v foben o w2, Fom fecfiatl 4 gum &1 9 sfts smemss faw-asg 5 fou wifas f&am wgm fen
1 | 7% ¥4 & 6 e SE g9 i w® osifhs s s gl oy Gem-asg @ 9 s
FTdl &, T 39 @i wad] I W 39 tas @ & fan sfimfn w #) s aga i faw-a
F WEH ¥ B ok AR 4 A@EAT B T A T $9 i SETaET WEEE Fd & 9 G99 -T%] & g
F1 3R T I = 9 fon 39 @ S e () f o gee v = g

Major problem with tools like Google and Twitter is

(Option A)  Relevancy of information

(option B)  Query formulation

(Option C) Dealing with huge content

(Option D) Providing seemless points of access
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(Option A)  z=ry it WAl
(Option B)  wyam wffarea
(Option C)  fgrrer ferwm =g W 1 &l

(Option D) q—g;:q = g™ %ﬁmm

Sl. No.142
QBID:591092

Head the given passage and answer the questions that follows (91-95) :

A century ago, library Services were focused on architecture, physical workflow design and
urban planning. Planning the physical environment is still important, but more often than
not, it serves as the backdrop for patrons operating in a world dominated by online
information sources. The experience and preference of library users is being affected by other,
non-library services such as Amazon, Google, Facebook, Twitter, and social question and
answer sites, ete., Library catalogs have long been the point of discovery and delivery of
content. People want to find information quickly and conveniently, and they expect the
interface to be familiar to them. Unfortunately, libraries have not consistently employed their
usage data to fully mobilize discovery services in the same way as Google. Providing seamless
points of access to the content people discover through other online services could be a point of
distinction for libraries. A study concluded that access— not discoverv—is the major challenge
for today’s information seekers, who may be better served by online library catalogs that
improve delivery and provide more links to more online content. [t is true that services like
Google help people discover content more quickly and eonveniently, but their search results
often leave them wanting more. When faced with sifting through a lot of content, people want
search engines that return information relevant to their search gueries in order to minimize
their need to evaluate the content.

dr &3 w e ol ve IuE gefye wvdl & I it (91-95)

TRl O e HAT0 S S HE WaTE WA UF AR AT 9 wfza off | s e $i
At 1 o HEea 2, R W AR s gEA |l & eniyue 9 v § s wememare i
TEY H FE A §| TR STArTEa s & NG U9 Sl S T -JEaRed e Jaie SH sHe,
T, B, Pa U9 GWiaw 99 a97 3T Sadl @5ed e gRT YEITEE i &1 JEReE el ol
awa ¥ fava 9w 6 @ vd vEreft F g w §1 am g 5 vE gfaarees g | o 9 § SR d
39 3evhd | itfEa & i stian WA §1 guiTaaw, e N @ s #  aE U 92 ae @
# 39 =l & I § e 99 21 faw-awg 9% w69 & gw e # e w1 F oo | s
HHEATE HAIl P EaweE & fou uF e fag & wrem | qem #) uh seaad § o o g e
T, Al 95T TO9E F I qIN AGE & O v g # R e sheam g e w E
wer o o ke 2, Tt feefiadl @ gum &1 w@ st steense fawa-aeg 5 foo wifes & wgm fen
o T 7% g9 & 6 e S gE @i s sl s ok giEae  wg Av-as i w@e § asEe
Fet &, S 9% = FEdt 9form W 39 s w@ee & T sfinfam ww #) o ag i fa-an
F WM W BEA ok AR 4 A5EAT B9 O S B9 59 i STETI WEEE FAd & A G99 -T9 % qeaeA
#1 IR WA I =EaH T4 & foe IR | e Eas () 1 awiTs gEen v = g

Oldest discovery tool 1s

Option A ; g
(op ) Agcession register
(Option B) i
(Option C)

Catalogue
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W AH SN "G §
(Option A) Uﬁ'ﬁ?ﬁ Iﬁfﬁl’
(Option B) sg_ﬂ[

(Option C) e
(Option D)  ayisg
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Head the given passage and answer the questions that follows (91-95) :

A century ago, library Services were focused on architecture, physical workflow design and
urban planning. Planning the physical environment is still important, but more often than
not, it serves as the backdrop for patrons operating in a world dominated by online
information sources. The experience and preference of library users is being affected by other,
non-library services such as Amazon, Google, Facebook, Twitter, and social question and
answer sites, etc., Library catalogs have long been the point of discovery and delivery of
content. People want to find information quickly and conveniently, and they expect the
interface to be familiar to them. Unfortunately, libraries have not consistently employed their
usage data to fully mobilize discovery services in the same way as Google. Providing seamless
points of access to the content people discover through other online services could be a point of
distinction for libraries. A study concluded that access— not discoverv—is the major challenge
for today’s information seekers, who may be better served by online library catalogs that
improve delivery and provide more links to more online content. [t is true that services like
Google help people discover content more quickly and econveniently, but their search results
often leave them wanting more. When faced with sifting through a lot of content, people want
search engines that return information relevant to their search gueries in order to minimize
their need to evaluate the content.

Hr & w e il ve IuE gefye wedl & I it (91-95)

TRl [ e HaT0 S Hifoe e WaE WA UF AR A 7 wfa off | difos g $i
At i o wEeat 2, R Wi AR s g |l & eniyueg e v @ we wememare i
e H FE A ¢ [ STArTEaIs & SNE UF SFal S -JEaeedE 2aiel au sHe,
e, b, A e gt 9ea au1 I Gadt aged ol grn waifaE wi £ JEaeed et oo
A d fava o 6 @9 vd vEeeft F g 1w §) 9m g 1w vE gfaerees @ 8 o 9 § il
37 SevRd | uftfEa &1 i /e i §1 guiTaaw, e | @@ wEe ® O e Uh 92 e @ s
# 37 e % I 7 Fia 98 21 fav-aw o w5 F gw fagen # wan w1 F o | s
HAETE HANS G & fon v fafe fag % memm | aemm #) vw e § wen e @ T w
TH, afesdh TEA aAHH F 3 GAN Gl o wE A R e seer Fea F g awa 20
v foben o w2, Fom fecfiatl 4 gum &1 9 sfts smemss faw-asg 5 fou wifas f&am wgm fen
1 | 7% ¥4 & 6 e SE g9 i w® osifhs s s gl oy Gem-asg @ 9 s
FTdl &, T 39 @i wad] I W 39 tas @ & fan sfimfn w #) s aga i faw-a
F WEH ¥ B ok AR 4 A@EAT B T A T $9 i SETaET WEEE Fd & 9 G99 -T%] & g
F1 3R T I = 9 fon 39 @ S e () f o gee v = g

The discussion in the paragraph is centred around

(Option &) Rirst Law of library science

(Option B)  gocond Law of library science
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(Option D) Foyurth Law of library science

el # uf= foeEs sE-uE i 87
(Option A)  yreprer fogm a1 wew Foem

(Option B) oo forme =1 foefrr oo
(Option C)  grereprers; T =1 et e
(Option D)  eareier T =1 =gd e

Sl. No.144
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Head the given passage and answer the questions that follows (91-95) :

A century ago, library Services were focused on architecture, physical workflow design and
urban planning. Planning the physical environment is still important, but more often than
not, it serves as the backdrop for patrons operating in a world dominated by online
information sources. The experience and preference of library users is being affected by other,
non-library services such as Amazon, Google, Facebook, Twitter, and social question and
answer sites, etc., Library catalogs have long been the point of discovery and delivery of
content. People want to find information quickly and eonveniently, and they expect the
interface to be familiar to them. Unfortunately, libraries have not consistently employed their
usage data to fully mobilize discovery services in the same way as Google. Providing seamless
points of access to the content people discover through other online services could be a point of
distinction for libraries. A study concluded that access— not discoverv—is the major challenge
for today’s information seekers, who may be better served by online library catalogs that
improve delivery and provide more links to more online content. [t is true that services like
Google help people discover content more quickly and conveniently, but their search results
often leave them wanting more. When faced with sifting through a lot of content, people want
search engines that return information relevant to their search gueries in order to minimize
their need to evaluate the content.

fra 23 0 e = ufed vg IEE dafua wwAl & I dif) (91-95)

AT O e HA e o ®e WaTE S UE R A 9 wfga off | e e 6
A 41 o wEe 2, R W AR s g | & sniaue T v § s e e i
T FE A ¢ TR ST & ST U9 Sl S T -JEaRed e Jae SH sHe,
T, FEgF, A2 td A WA T I Sadt 9EeE A G WWIEA @ § | T deei o
g § favg aeg Fi @9 vd vl & g @ # o gE w1 o vg i @ | o e § s g
I 3e0Rd | iTEA &M i STa WA g1 gHiTaa, T & @@ qae #  aE U 92 a0 @
# 39 =l & I § fia 99 21 faw-awg 9% w59 & gw e # wem e F T | s
SHETE Harsll 1 Jeased & fou uF fafie fag & wream | qem #) us e § wmn o @ e
T6, afesh TES TOHE F 3 GAN SHEA F o wE g 7 e s seem F g awm an |
yar Ten = w2, s focfad @ qum @1 @ sifas semss faw-as + foo sifees 9w wam e
1 o) 98 F9 & R e S san o st dam o glam & @ Tw-as f g 5 sEE
FTdl &, T 39 @ wEd] IR W 39 e e & fan wfimfn w #) s aga i fawm-a
F WEH H B o GW § A@EAT B O A T 599 S SETIET HEEE Fd & 9 G99 -T%] & g
F1 3R T I = 9 fon 39 @ S e () f o gee v = g

A century ago library services were not focussed on

(Option A)
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On-line solutions

(Option B) Planning

(Option C) Physical work-flow

Option D
(Opti ) Architecture

AT=E] o T GEARE a0 (efeiEd T e 6 o

(Option A)  trres e
(Option B) AT

(Option C) it el -yame

(Option D) zogey
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Head the given passage and answer the questions that follows (91-95) :

A century ago, library Services were focused on architecture, physical workflow design and
urban planning. Planning the physical environment is still important, but more often than
not, it serves as the backdrop for patrons operating in a world dominated by online
information sources. The experience and preference of library users is being affected by other,
non-library services such as Amazon, Google, Facebook, Twitter, and social question and
answer sites, etc., Library catalogs have long been the point of discovery and delivery of
content. People want to find information quickly and conveniently, and they expect the
interface to be familiar to them. Unfortunately, libraries have not consistently employed their
usage data to fully mobilize discovery services in the same way as Google. Providing seamless
points of access to the content people discover through other online services could be a point of
distinction for libraries. A study concluded that access— not discovery—is the major challenge
for today’s information seekers, who may be better served by online library catalogs that
improve delivery and provide more links to more online content. [t is true that services like
Google help people discover content more guickly and conveniently, but their search results
often leave them wanting more. When faced with sifting through a lot of content, people want
search engines that return information relevant to their search queries in order to minimize
their need to evaluate the content.

= &7 ™ e =1 9l v9 36E wEian 9w % I A (91-95)

TRl O e HaT0 T Hifoe e WA WA UF AR AT 7 Sfa off | ifos e $i
At 31 o wEeat 2, R Wi AR s gEA |l & eniyuea e v @ we wememare i
e H FE A ¢ (R SArTEals & SNE UF SFal S H-qEaesedE daiel au sHe,
e, b, A uE gt 9 aur I Gadt aged ol g wWitaE wid #1 JEaeeE et oo
A d fava o 6 @9 vd vEeelt F g 1w §) 9m g i wi vE gfaerees 2 8 o 9 § i S
37 SevRd § uftfEd &9 i /e i §1 guiTaaw, e | @@ wEe w0 e Uh 92 e @ s
# 37 e % I 7 fian 7@ 21 fav-aw 0% w5 ® gw g #owan w1 F o am e
TS HAIs 1 qEEeE & fon v fafe fag % mem | qem #) vw e | wmn e @ T w
TH, afesdh TEA aAHH F 3 GAN G F fow wE A 7 T seers e F g awa 20
v T o wa &, Foma feefadl @ gun 7 w3 sfhs smens v -as 5 oo sfus o w2m e
1 5| 7% 99 & 6 e S g9 i s osifhs s s giEm & oy Gem-asg @ 9 s
FTdl &, T 39 @i wad] I W 39 Atas @ & fa wfimfn e #) o aga i I -a
F W H B 6 AW 4 @A B O A T 39 i SETAET WS Fd & 9 G99 -T% % g
F1 39 T I = 99 fon 39 @ S e () f aEi gee v =

Which of the following is a major challenge for today's information seekers

(Option A) ¢ intent delivery
(Option B) Content access
(Option €) vt discovery
(Option D)

Content availability

TR HE SHEA & [0 g e fetetaa # 5 w9 5 87
(Option A) e a@uamﬁ

(Option B)

fo =g 1 wEw
(Option C) ﬁ'q-q ﬂ Eﬁ @q

(Option D)

prepp

Your Personal Exams Guide



www.prepp.in
o 7w 1 ITeEaE

Sl. No.146
QBID:591096

Read the given passage and answer the questions that follow (96-100):

A reading culture is an environment where reading 1s championed, valued. respected. and
encouraged. Reading lies at the heart of the curriculum, and it's of the upmost importance to
a child's personal, social, and academic success, as well as their general wellbeing. Creating a
reading culture should not be the responsibility of an individual. It takes dedication,
perseverance, and effort. It's led by an enthusiastic and dedicated senior leadership team, and
advocated by every pupil, parent, career, and staff member in the school community. If
reading is to become a lifelong habit, then people must see themselves as participants in a
community that views reading as a significant and enjoyable activity. Parents and the home
environment are essential in fostering a love of reading. Where a reading culture exists,
children read of their own free will, on a regular basis. Students select their own reading
material, at a time and place of their choosing. They are willing and active participants, who
anticipate the satisfaction they'll get from picking up a book.

To make sure children don't experience reading difficulty and demotivation, we should ensure
students become fluent and engaged readers from an early age. Creating a reading culture
where students are disaffected, hold negative attitudes, and whose reading ages are well
below chronological, can be challenging, but not impossible. Building a strong reading culture
puts reading at the forefront of school improvement. A creative and exeiting reading culture
not only breeds capable and committed readers, it boosts wellbeing, community
connectedness, and student outcomes. Children will need high levels of literacy in so many
aspects of their hives. Not only 15 reading required for success in future employment, an
ability to read will help children in future relationships, when running a household, and when
navigating all aspects of their personal lives. Only competent readers will he able to access

the wonders of the curriculum, and thus improve their life chances.

Fr=fefiaa mem =+ ofgw v f{u o ov=i %1 3 49w (96-100):

T2 F TEFA UF AT @ T e § Heny wiee H A6l 8, T F Heew T A g, 9 e
T & ST 3H TeE 5 A1 B Ted Tes=A % %5 § € S 98 Gl i A, amieas s i
B T IAF T Fedm & fou ot siefus deel 81 9ed 6 gEsia w1 ged & R st &5
Ziftea 981 91 =ifen s for Tin, weEaE S W I AT a2 TR SHET S i
gufda e Jge e gran i S & ot frenem augm § vers o -an, aw-faa, See g i st
"o g1 SR ashtera i w81 A ve Sften e sned | SER @ S, At i s s s T
HYETE 1 WEAT] HEET ST 1 e F WEE S a1 AEd 8| 964 & ¥ia 39w s 4
4 wran-faar v W w1 S SEEE 2 9 = o afee geweh § o R e w1 et | 9 e
arett H5f2 ®1 @ = 2

vE gifrad w6 % o & #= #1951 7 Fioas 79 @ oK 3 s F w6 w0 e A 9, 9w
giafeaa = wifey 6 faandi a=mm @ 6 vEwEyt ok 3 9z 9% o 7o) TeE 5 ool wE faemedf aea
& wia g &, FFEneE g @ w Wi T ged i 3w g 8 #9 w, T8 Ted i g i
FA1 qiTha B HHal 8, W HENT A8 Ted 6 gog AR & W & e fGem & swe @ oaew
uEca QU fee € W Bl Ted i GuATeds i Ueeh GERl 8 7 Shael 9uH i guia 9@ 99 w6 E,
afes go@ Taenfidai =1 wen &1 2, 3 992 @ 93 U9 B i 30k @ 0 gig § W B S W 3
a4 F o TEAH H Wl F 39 T H Al 2@ 21 9 Faa 9 s F T d g%aa & o
e I AT &, Ffewh T i AT H A= H G T H, A Fafen A % ol gwee § s
Fgd §Y Wil wayl § H wEEm et A e @ weveal ® dwedl o TEd T S 36 T 3
St = s § s g

Reading culture of children should be cultivated

(Option A) ;

When they are interested to read
(Option B) . .

During their early age
(Option C)

When they become 12 years old
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Tl | T i Heh( i i S ity
(Option A) 55 3 e & Wia %= 309 #

(Option B) 3k s o A
(Option €) <z 3 12 = % 7 =0

(Option D)z zoerr waw Fenerai # &1 90
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Read the given passage and answer the questions that follow (96-100):

A reading culture is an environment where reading is championed, valued. respected. and
encouraged. Reading lies at the heart of the curriculum, and it's of the upmost importance to
a child's personal, social, and academic success, as well as their general wellbeing. Creating a
reading culture should not be the responsibility of an individual It takes dedication,
perseverance, and effort. It's led by an enthusiastic and dedicated senior leadership team, and
advocated by every pupil, parent, career, and staff member in the school community. If
reading is to become a lifelong habit, then people must see themselves as participants in a
community that views reading as a significant and enjoyable activity. Parents and the home
environment are essential in fostering a love of reading. Where a reading culture exists,
children read of their own free will, on a regular basis. Students select their own reading
material, at a time and place of their choosing. They are willing and active participants, who
anticipate the satisfaction they'll get from picking up a book.

To make sure children don't experience reading difficulty and demaotivation, we should ensure
students become fluent and engaged readers from an early age. Creating a reading culture
where students are disaffected, hold negative attitudes, and whose reading ages are well
below chronological, can be challenging, but not impossible. Building a strong reading culture
puts reading at the forefront of school improvement. A creative and execiting reading culture
not only breeds capable and committed readers, it boosts wellbeing, community
connectedness, and student outcomes. Children will need high levels of literacy in so many
aspects of their lives. Not only is reading required for success in future employment, an
ability to read will help children in future relationships, when running a household, and when
navigating all aspects of their personal lives. Only competent readers will be able to access

the wonders of the curriculum, and thus improve their life chances.

Fr=fefiaa e #1 ofgw v f{u o ov=i %1 3 4w (96-100):

T i TEHlA Uk UHET § TR Ued W Heny giEe i @i 8, Ugd Fi Haed foan Al €, $EeR ae R
FTA1 2 ST T weET (547 9l 81 Ted Teuadl 4 &g H § N g8 @erehi i sai, JEiEE S S
HESA AT IAF T FHodm & fou ot sTefus TEeal 81 Jed 6 Geia w1 ged wen R sate &5
atfiea 81 g1 Iifeu) sEh foro wedu, saaErg S waE i SETEEa gl 21 36 SET S S
Fufda TiE Ig0 e g i S 8 i frene augm § ves o -ann, -, Sed g i s
HEF gRT SEehT ashter i Wl #1 A ve Sftaa e snEd | wEw @ S, A | s e s T
HYE 1 TEAT GEEAT I1EC W1 g4 i HEE S STHEEEs 1 WG 81 9g4 & ia 39 H awE 4
5§ wrar-faan s w0 w1 FweE sEEE 2| 9 T 9 A mewei # o R e ot | 9 e
arelt w5 *1 @A = 2

ta ghifraa = & o & o=+ sgd § w8 =8 &1 o 328 sl i =6 %1 s 7 &, o 18
giafeaa e wifey, 6 i a=mm & 6 wEwEyl offF 3 92 756 o 7o) Tes 59 ol I8 famedf g
& wia e &, FFE e i w5 Ted f 3w ame 8 F6 A, 98 el i mEst g9
FA1 GfThel & Al 8, W AENE A4 Ued 6l Yge Ak & B & ven fGmem & swa = oaed
TEeAYY feem B W B 9ed i goeTews o I SRR § 7 e 95H H1 guta 78 99 w9 E,
afes 398 foenfiai =1 wen 27 2, 3 5929 § 93 TR € S0 39 o ° gig @ 9 21 S= S 3
a3 TR W HIERAT & I TR o SEvaEa w81 7 FEd 9GS & T § g6am & fo
T I SAETIEAT £, Aok e i ATaW & T F 9 T °, 9 Jafd S5 F 7t e 4 s
Fgd 70 WE gaul § J gEES e 9 veE @ veeEdl & @wEdl oF J5d 0 SR 36 TEE 396
i #* aEad | sga g

What is the end result of reading culture?

ion A L 5
(Option A) . piklisation of inare litasatiive

(Option B)  Ranypval of demotivation

(Option C) Improve life chances of individuals

(Option D) (6 can select their own reading material

T =TT F1 SO T = e
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(Option B) - sifiriizor <1 wheff =1 7t foben s
(Option C) =feral & Sfiaa % waed] # Fgatl

(Option D) s st var wsht 1 5o ot o] 2
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Read the given passage and answer the questions that follow (96-100):

A reading culture is an environment where reading is championed, valued, respected. and
encouraged. Reading lies at the heart of the curriculum, and it's of the upmost importance to
a child's personal, social, and academic success, as well as their general wellbeing. Creating a
reading culture should not be the responsibility of an individual. It takes dedication,
perseverance, and effort. It's led by an enthusiastic and dedicated senior leadership team, and
advocated by every pupil, parent, career, and staff member in the school community. If
reading is to become a lifelong habit, then people must see themselves as participants in a
community that views reading as a significant and enjoyable activity. Parents and the home
environment are essential in fostering a love of reading. Where a reading culture exists,
children read of their own free will, on a regular basis. Students select their own reading
material, at a time and place of their choosing. They are willing and active participants, who
anticipate the satisfaction they'll get from picking up a book.

To make sure children don't experience reading difficulty and demotivation, we should ensure
students become fluent and engaged readers from an early age. Creating a reading culture
where students are disaffected, hold negative attitudes, and whose reading ages are well
below chronological, can be challenging, but not impossible. Building a strong reading culture
puts reading at the forefront of school improvement. A creative and exeiting reading culture
not only breeds capable and committed readers., it boosts wellbeing, community
connectedness, and student outcomes. Children will need high levels of literacy in so many
aspects of their hives. Not only 15 reading required for success in future employment, an
ability to read will help children in future relationships, when running a household, and when
navigating all aspects of their personal lives. Only competent readers will he able to access
the wonders of the curriculum, and thus improve their life chances.

Freferfaa Temm =i ufew s e o ww=i % 3o difs (96-100):

T = HEHA UF UHEE & WE Ued § HEnd wiEe # A 8, T F 5Eed 9 A 8, 5 o e
a1 & ST 36 " 5 S 81 UedT Tieuadl & g 4 ¢ 3 98 "ol $1 o4, dEias S st
HESA T IAF @ Foam & fou | stetas sl 81 9o #7555 F1 ged wen R st w5
g1t A8 BT SIET) Eh foTT WAV, SSAEETE S WA i STl w6l 81 SER AT SeamE #i
aufda afe Jge e g i S 8 o fenem aggm 9 vers aE-ann, aa-fga, Sted g ot weEt
HEA GRT ST At i Wl #1 A Te Sfed W e | IEE § S, a1 S s 9 S i
TS 1 GEAT GHEA1 S1EC S Tgd i HEeU SN STHEEE FE WMd 8| 9ed % wia 39 i aeEn
4 wrar-faan s w0 &1 A SEEE 8 9 s ol afwe sewh & 9 R geae w1 ved | 9w e
FTet HgE F [@EE F= £

va gifrea = % o o s o ued 7wl A A1 o 3 o ol e A 9, oo
giafeaa e =ifey, 6 fanedi = @ & vEwEyt @ik 3 9z 9% 3 7o) Tew 59wl wE et g
& wia 3grfA &, FwnerE g @ g i s ged i 3w g 8 &8 E, 98 el i aes Gy
FA1 fTRa 7 Al 8, W HEES A8 Ted 6 Hgg AR & T & e Gwem & swe w5 oaew
uEeaqy feem § W 81 984 i gueTeas S U SRl 8 7 Hae 9ad d auita 9@ 19 ' E,
afe so8 faenfiiai 1 wen @1 2, 3 9@ @ 93 T € i I o # 3 @ W 81 9= # 31
g F oFF TEAH] H FEaT F I T H SErEEal 2@l 21 9 Faa 9fas F T d gwea & oo
T F ETIET &, few Ted Fi Frae @ a= # 9 96 §, 99 Fafes i F o weged s
Fgd g Wil "yl § H geEa el A e @ wewa & el o Yed W0 S 36 TEN 3
e F EEi § e 2

Which of the following is essential to build reading culture?

(Option A) (3,54 School
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(Option B)  Aytomated Library
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(Option €) gt 1ict teacher

Option D " "
(op ) Dedication, Perservarance

Fraferfiaa & & =9 -7 724 $it Gepl T 569 * oo sfEm 27
(Option A) z==7 FEEE

(Option B) g=nfera gerier

(Option €) 3y firers

(Option D)  gagefmy sy
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Read the given passage and answer the questions that follow (96-100):

A reading culture is an environment where reading is championed, valued. respected. and
encouraged. Reading lies at the heart of the curriculum, and it's of the upmost importance to
a child's personal, social, and academic success, as well as their general wellbeing. Creating a
reading culture should not be the responsibility of an individual It takes dedication,
perseverance, and effort. It's led by an enthusiastic and dedicated senior leadership team, and
advocated by every pupil, parent, career, and staff member in the school community. If
reading is to become a lifelong habit, then people must see themselves as participants in a
community that views reading as a significant and enjoyable activity. Parents and the home
environment are essential in fostering a love of reading. Where a reading culture exists,
children read of their own free will, on a regular basis. Students select their own reading
material, at a time and place of their choosing. They are willing and active participants, who
anticipate the satisfaction they'll get from picking up a book.

To make sure children don't experience reading difficulty and demaotivation, we should ensure
students become fluent and engaged readers from an early age. Creating a reading culture
where students are disaffected, hold negative attitudes, and whose reading ages are well
below chronological, can be challenging, but not impossible. Building a strong reading culture
puts reading at the forefront of school improvement. A creative and execiting reading culture
not only breeds capable and committed readers, it boosts wellbeing, community
connectedness, and student outcomes. Children will need high levels of literacy in so many
aspects of their lives. Not only is reading required for success in future employment, an
ability to read will help children in future relationships, when running a household, and when
navigating all aspects of their personal lives. Only competent readers will be able to access

the wonders of the curriculum, and thus improve their life chances.

Fr=fefiaa e #1 ofgw v f{u o ov=i %1 3 4w (96-100):

T i TEHlA Uk UHET § TR Ued W Heny giEe i @i 8, Ugd Fi Haed foan Al €, $EeR ae R
FTA1 2 ST T weET (597 9l 81 Ted Teuadl 4 &g ° § N g8 @ierhi ol sai, JEias S S
HESA AT IAF T FHodm & fou ot sTefus TEeal 81 Jed 6 Geia w1 ged wen R sate &5
atfiea 81 g1 Iifeu) sEh foro wedu, saaErg S aE i SETEEa gl 21 36 SET S S
Fufda TiE Ig0 e g i S 8 i frene augm § ves o -ann, -, Sed g i s
HEF gRT SEehT ashter i Wl #1 A ve Sfraa e snEd | sEw @ S, A | s s s T
HYE 1 TEAT GEEAT I W1 g4 i HE S SHEEEs S WG 81 9g4 & ia 39 H awEn &
5§ wrar-faan s w0 w1 Fe sEEE 2| 9 T 9 AR meuei # o R e w1 vt | 9w e
arelt w5 *1 @A = 2

ta ghifraa = & o & o=+ sgd § w8 =8 &1 o 328 sl i =6 %1 s 7 &, o 18
giafraa e wifey, 6 i a=m & 6 wEEyl ofF 3 92 956 o 7o) Tes 59 gl F@ fameff g
& wia e &, FFE e i w5 Ted f 3w ame 8 F6 A, 98 el i mEst g9
FA1 GfThel & Al 8, W AENE A4 Ued 6l Yge Ak & B & ven fGmem & swa = oaed
TEeAYY feem B W B 9ed i goeTews o I SRR § 7 e 95H H1 guta 78 99 w9 E,
afes 398 foenfiai =1 wen 27 2, 3 5929 § 93 TR € S0 39 o ° gig @ 9 21 S= S 3
a3 TR W HIERAT & I TR o SEvaEa w81 7 FEd 9GS & T § g6am & fo
T I SAETIEAT £, Aok e i ATaW & T F 9 T °, 9 Jafd S5 F 7t e 4 s
Fgd 70 WE gaul § J gEES e 9 veE @ veeEdl & @wEdl oF J5d 0 SR 36 TEE 396
i #* aEad | sga g

Creating reading culture breeds
(Option A) - Rankholders

(Option B) Ay reciation from parents

(Option C)  Applause from publishers

(Option D)  (apable and committed readers

e 1 HEFa H 0 99 A6 B 7

(Option A)
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(Option B)  myey—fiam & waram
(Option C)  georeri & wwimm
(Option D) zam i wxfla T
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Read the given passage and answer the questions that follow (96-100):

A reading culture is an environment where reading 1s championed, valued. respected. and
encouraged. Reading lies at the heart of the curriculum. and it’s of the upmost importance to
a child's personal, social, and academic success, as well as their general wellbeing. Creating a
reading culture should not be the responsibility of an individual. It takes dedication,
perseverance, and effort. It's led by an enthusiastic and dedicated senior leadership team, and
advocated by every pupil, parent, career, and staff member in the school community. If
reading is to become a lifelong habit, then people must see themselves as participants in a
community that views reading as a significant and enjoyable activity. Parents and the home
environment are essential in fostering a love of reading. Where a reading culture exists,
children read of their own free will, on a regular basis. Students select their own reading
material, at a time and place of their choosing. They are willing and active participants, who
anticipate the satisfaction they'll get from picking up a book.

To make sure children don't experience reading difficulty and demaotivation, we should ensure
students become fluent and engaged readers from an early age. Creating a reading culture
where students are disaffected, hold negative attitudes, and whose reading ages are well
below chronological, can be challenging, but not impossible. Building a strong reading culture
puts reading at the forefront of school improvement. A creative and exeiting reading culture
not only breeds capable and committed readers, it boosts wellbeing, community
connectedness, and student outcomes. Children will need high levels of literacy in so many
aspects of their lives. Not only is reading required for success in future employment, an
ability to read will help children in future relationships, when running a household, and when
navigating all aspects of their personal lives. Only competent readers will be able to access

the wonders of the curriculum, and thus improve their life chances.

fr=fefian mem =+ ofgw v f{u o ov=i %1 3 4t (96-100):

T i TEHA Uk UHET § TRl Ued W Heny giiEe i @i 8, Ugd Fi Haced foan Al €, JEeR aee R
AT & ST 30 wewEn 59 A &1 e Teu=al & S5 ° ¢ N 9% "kl il sAtwE, g i difEes
HESA AT IAF T FHodm & fou i seius dEel 81 ded 6 GeFia w1 ged wen R sate &5
atfiea =81 g1 Iifeu) sEh forn wadu, saaErg S aE i SAETEEa gl 21 36 SETs S S
aufda TiE Ige oa g i S 8 i frene augm § ves o -ann, -, Sed g i e
HEF gRT SEehT ashter i W @1 Af ve e e sned ® sww @ S, At S s e s T
HYE 1 TEAT GEEAT IIEC W1 g4 i HEE S SHEEEs 1 WHd 8l 9g4 & ia 39 H @wE &
5 wran-faan s w0 &1 S SEEE 2| 9 T o A geuni # o R e w6 et | 9 e
arelt w5 *1 @A = 2

tw ghifraa = & o & o=+ sgd § w8 of &1 o 328 sl 6 w6 %1 s 9 &, o 18
giafeaa e =ife 6 i a=mm & 6 vEwEyl o 3 92 95 o 7o) Tes 59 gl I8 fawmedf geq
& wia e &, T e i w s s Ted f 3w e 8 #6 A, 98 el i mEst g9
FA1 qfThel & Al 8, W AENE A4 Ued 6l Yge ARG & W & ven fGmem & swa = oaed
TEeAYY feem &1 W B 9ed i goeews o I SRRl § 7 e 95H H1 gua 78 99 w9 E,
afes 398 foenfiai =1 wen 27 2, 3 5929 § 93 TR € S0 39 o ° gig @ 9 21 S= S 3
a3 TR W HIERAT & I TR o SEvaEa w81 7 FEd 9GS & T § g6am & fo
T I SAETIEAT £, Aok e i ATaW & T F 9 T °, 9 Jafd S5 F 7t e 4 s
Fgd 70 WE gaul § J gEES e 9 veE @ veeEdl & @wEdl oF J5d 0 SR 36 TEE 396
i #* aEad | sga g

Where reading culture exists students ——— on their own

(Option A)  giject reading materials

(Option B)
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Prefer to go to school

(Option €)  Degign curriculum

(Option D) Play games

el e i wepl e R, e

(Option A) vz Fmmfl % 99 F §
(Option B)  fiyerrer w1 6z Fd §
(Option C)  grzsr=af Faw F1H £
(Option D) o s =
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